
General Intelligence and Reasoning

 1. In a certain code language, ‘apple’ is called ‘pear’, ‘pear’ 
is called ‘orange’, ‘orange’ is called ‘guava’ and ‘guava’ 
is called ‘melon’. In this language, which one of the 
following will be a citrus fruit?
1. Pear 2. Orange 3. Melon 4. Guava

 2. If in a certain code, ‘BRIDGE’ is written as 
‘ACQSHJCEFHDF’, what is the code of POWER?
1. QOPNVXDFSQ 2. OQNPVXDFQS
3. OQNPVXEFRS 4. QONPXVDFQS

 3. Which of the given options would be a logical sequence 
of the following words?
1. Decameter 2. Millimeter 3. Hectometer  4. Centimeter
5. Decimeter
1. 3, 1, 5, 2, 4 2. 2, 1, 5, 3, 4 3. 3, 1, 5, 4, 2 4. 5, 1, 3, 2, 4

 4. The sequence of folding a piece of paper and the manner in 
which the folded paper has been cut is shown in the following 
figures. How would this paper look when unfolded?

1.    2.

3.    4.

 5. Select the Venn diagram that best represents the 
relationship between the following classes.

 Star, Sun, Mercury

1.    2.

3.    4.

 6. Four pairs of numbers have been given, out of which 
three are alike in some manner, while one is different. 
Choose out the odd one.
1. 25 : 16 : 9 2. 64 : 100 : 18 3. 81: 9 : 19 4. 16 : 64 : 12

 7. Select the option in which the given figure is embedded. 
(Rotation is NOT allowed)

1. 2. 3. 4.

 8. Four words have been given out of which three are alike in 
some manner, while one is different. Choose the odd one.
1. Fan 2. Floor 3. Wall 4. Ceiling

 9. Which of the option figures is the exact mirror image of 
the given problem figure when the mirror is held to the 
right side of the problem figure?

SIR

1. 
+

+

SIR 2.
+

+

SIR 3.

+

+

SIR 4.
+

+

SIR

 10. Select the Venn diagram the best represents the 
relationship between the following classes.

 Mothers, Doctors, Females 

1.    2.

3.    4.

 11. How many triangles are there in the given figure?

1. 30 2. 33 3. 25 4. 32
 12. Select the option in which the numbers share the same 

relationship as that shared by the given pair of numbers.
 76 : 171
1. 28 : 63 2. 24 : 39 3. 62 : 135 4. 52 : 115

 13. Select the figure that will come next in the following 
figure series.

?

1. 2. 3. 4.

14. A statement is given followed by two conclusions I and II. 
Consider the given statement as true and decide which 
of the given conclusions logically follow/s from the given 
statement.
Statement:

 The Prime Minister has made clear that his government 
will make concerted effort for the upliftment of poor 
farmers and announced an annual pension for them.

  Conclusions:
I.  Government understands that the condition of poor 

farmers needs immediate attention.
II.  No benefits are announced for other sections of 

society. 
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1.	 Both conclusions I and II follows.
2.	 Only conclusion I follows.
3.	 Neither conclusion I nor II follows.
4.	 Only conclusion II follows.

	 15.	 Stayen starts walking towards North. After walking 70m 
he turns to left and walks 35m straight. He then turns to 
left and walks 30m, again he turns to the left and walks 
a distance of 35m. How far is he from the starting point 
and in which direction?
1.	 35m, South			   2.	35m, North
3.	 40m , North			   4.	40m, South

	 16.	 In a certain code language, ‘RIVER’ is written as ‘10-3-
5-2-10’ then how will ‘PETROL’ be written in the same 
code language?
1.	 13-5-8-9-4-15			   2.	12-2-8-10-13-15
3.	 11-2-7-10-13-16		 4.	12-2-8-10-4-16

	 17.	 Select the option that will replace the question mark to 
complete the given series.

	 	 7, 17, 41, 85, ?, 257
1.	 155	 2.	165	 3.	105	 4.	150

	 18.	 Identify the number that does NOT belong to the 
following series.

	 	 104, 108, 54, 58, 29, 31
1.	 58	 2.	29	 3.	54	 4.	31

	 19.	 Arrange the following words in the order in which they 
appear in an English dictionary.
1.	 Meticulous	 2.	Metric	 3.	Method	 4.	Mettle
5.	 Meter
1.	 5, 3, 1, 4, 2	 2.	3, 4, 5, 1, 2	3.	5, 3, 1, 2, 4	 4.	5, 1, 3, 2, 4

	 20.	 Study the given pattern carefully and select the number 
that can replace the question mark (?) in it.

3 18 27
14 13 ?
34 62 98

1.	 25	 2.	22	 3.	15	 4.	23
	 21.	 A farmer is preparing his field. He starts his tractor from 

garage and drives 5 km towards East. From there, he 
turns right and drives 6 km. Then, he turns right and 
drives 8 km. Again, he turns right and drives 10 km 
when his tractor breaks down. What is the shortest 
distance between his current location and garage?
1.	 5 km	 2.	6 km	 3.	9 km	 4.	2 km

	 22.	 Select the option that is related to the third term in the 
same way as the second term is related to the first term.

	 	 AOE : FUJ :: RKT : ?
1.	 VOY	 2.	VQX	 3.	WOY	 4.	WQY

	 23.	 Four words have been given out of which three are alike in 
some manner, while one is different. Choose the odd one.
1.	 Stars	 2.	Planets	 3.	Galaxies	 4.	Rockets

	 24.	 Select the option in which the words share the same 
relationship as that shared by the given pair of words.

	 	 Wheel : Spoke
1.	 Chapter : Book	 2.	Table : Chair
3.	 Star : Galaxy			   4.	House : Room

	 25.	 Select the option in which the words share the same 
relationship as that shared by the given pair of words.

	 	 Lotus : Flower
1.	 Rial : Currency	 2.	Metal : Copper
3.	 Paper : Book			   4.	Furniture : Wood

	 26.	 Select the option in which the numbers shares the same 
relationship as that shared by the given pair of numbers.

	 	 (73, 78, 93)
1.	 (67,72 ,82)			   2.	 (29, 34, 39)
3.	 (23, 33, 38)			   4.	 (145, 150, 165)

	 27.	 If the given figure is folded to form a cube, which symbol 
will come opposite? ?

1.	 	 2.	 	 3.	 	 4.	

	 28.	 Select the option that is related to the fourth term in the 
same way as the first term is related to the second term.

	 	 QMDFEHKNJ : FDMQVJNKH :: ? : HELIOPTER
1.	 LIEHLREPT			   2.	 ILEHOERTP
3.	 ILEHLRETP			   4.	 ILEHORETP

	 29.	 ‘Greedy’ is related to ‘Generous’ in the same way as 
‘Vindictive’ is related to:
1.	 Revengeful			   2.	Apathetic
3.	 Inimical			   4.	Merciful

	 30.	 Four letter-cluster have been given out of which three 
are alike in some manner, while one is different. Choose 
the odd one.
1.	 RUXA	 2.	MPSV	 3.	BEHK	 4.	GJMQ

	 31.	 Read the given statements and conclusions carefully. 
Assuming that the information given in the statements is 
true, even if it appears to be at variance with commonly 
known facts, decide which of the given conclusions 
logically follow(s) from the statements.

	 	 Statements:
I. 	Some Delhites are Singaporeans.
II. 	No Singaporean is an American.

	 	 Conclusions:
I. 	Some Americans are Singaporeans .
II. 	All Singaporeans are Delhites.
1.	 Either conclusion I or II follows.
2.	 Only conclusion II follows.
3.	 Only conclusion I follows.
4.	 Neither conclusion I nor II follows.

	 32.	 Which of the following pairs of numbers and signs, 
when their positions are interchanged, will correctly 
solve the given mathematical equation?

	 	 17 × 15 + 3 – 11 ÷ 3 = 45
1.	 15 and 11, – and ×	 2.	15 and 11, + and ×
3.	 17 and 3, – and ÷	 4.	15 and 11, + and –

	 33.	 The two given expressions on either side of the ‘=’ sign 
will have the same value if two terms on either side or 
on the same side are interchanged. Find from the given 
option the correct terms to be interchanged.

	 	 5 × 2 + 8 ÷ 2 – 1 = 9 – 6 ÷ 3 + 6 × 3
1.	 8, 9	 2.	1, 9	 3.	5, 9	 4.	2, 6

	 34.	 Four pairs of letter-cluster have been given out of which 
three are alike in some manner, while one is different. 
Choose the odd one.
1.	 XHEP - KVRA		 2.	ARNI - RMIZ
3.	 OLEV - EVOL		 4.	TSRA - ZIHG

	 35.	 Select the option that is related to the third term in the 
same way as the second term is related to the first term.

	 	 Ballet : Choreographer :: Clothes : ?
1.	 Shopkeeper			   2.	Printer
3.	 Producer			   4.	Tailor
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 36. Four pairs of numbers have been given, out of which 
three are alike in some manner, while one is different. 
Choose out the odd one.
1. 51 - 25 2. 50 - 7 3. 16 - 3 4. 64 - 32

 37. Four pairs of numbers have been given, out of which 
three are alike in some manner, while one is different. 
Choose out the odd one.
1. 321 : 213 : 123   2. 432 : 324 : 231
3. 798 : 897 : 798   4. 564 : 645 : 456

 38. Select the option that will fill in the blank and complete 
the given series.

 FTB, IQE, LNH, OKK, ?
1. SHN 2. RGM 3. SHM 4. RHN

 39. Select the figure that will come next in the following 
figure series.

?

1. 2. 3. 4.

 40. Select the option that will replace the question mark to 
complete the given series.

 40, 50, 61, 73, 86, ?, 115
1. 100 2. 98 3. 105 4. 99

 41. Select the figure that will come next in the following series.

?
S

1. 2.
S

3.

S

4.

S

 42. Which of the option figures is the exact mirror image of 
the given problem figure when the mirror is held to the 
right side of the problem figure?

 ALPha797charLIE
1. charLIE797ALPha 2.

ALPha797charLIE

3. ELPha797charLIA 4. ALPha797charLIE
 43. If D = 12, AGE = 39, then ‘JADE’ will be equal to?

1. 60 2. 58 3. 40 4. 62
 44. Select the option that is embedded in the given figure. 

(Rotation is NOT allowed)

1.    2.

3.   4.

 45. Select the option that is related to the fifth number in 
the same way as the second number is related to the first 
number and fourth number is related to third number.

 31 : 3 : : 75 : 35 : : 54 : ?
1. 9 2. 21 3. 19 4. 20

 46. Select the option that is related to the fifth number in 
the same way as the second number is related to the first 

number and the fourth number is related to the third 
number.

 9 : 102 :: 11 : 146 :: 13 : ?
1. 198 2. 200 3. 175 4. 171

 47. Four numbers have been given out of which three are 
alike in some manner, while one is different. Choose the 
odd one.
1. 117 2. 103 3. 107 4. 113

 48. The Venn diagram given below shows the artists in a 
Music School. The ‘Triangle’ represents ‘Pianists’, ‘Circle’ 
represents ‘Drummers’, the ‘Rectangle’ represents 
‘Guitarist’ and the ‘Square’ represents ‘Singers’. The 
numbers given in the diagram represents number of 
persons of that particular category. How many singers 
are also pianist and guitarist but not Drummers?

11
7

54
1 1 1

7 208

2

1. 9 2. 5 3. 7 4. 12
 49. If + means –, – means ×, × means ÷, and ÷ means +, 

then what will be the value of following expression?
 13 – 3 + 15 × 3 ÷ 5 = ?
1. 37 2. 42 3. 39 4. 41

 50. Select the letter that can replace the question mark (?) in 
the following series.

 K, J, L, I, ?, H
1. L 2. D 3. M 4. N

General Knowledge and General Awareness

 51. How many polities does the institutional mechanism of 
federalism accommodate?
1. Three 2. Two 3. Four 4. One

 52. The narrow zone of contact between the lithosphere, 
hydrosphere and atmosphere where natural vegetation 
and wildlife exist is called the:
1. Geosphere   2. Biosphere
3. Troposphere   4. Exosphere

 53. Which economist developed international trade 
theory in 1817 based on comparative advantage and 
specialisation?
1. Paul Krugman  2. Milton Friedman
3. Gary Becker   4. David Ricardo

 54. Who became the Nawab of Bengal after the death of 
Alivardi Khan in 1756?
1. Sujan Khan   2. Murshid Quli Khan
3. Siraj ud-Daulah 4. Mir Jafar

 55. Which of the following metals in pure form has the 
highest melting point?
1. Gold 2. Tungsten 3. Copper 4. Platinum

 56. Which Commission was appointed by the central 
government to examine issues related to Centre-State 
relations?
1. Sarkaria Commission 2. Mandal Commission
3. Nanavati Commission 4. Kothari Commission

 57. In which year did King George V assume the crown of 
India?
1. 1917 2. 1906 3. 1923 4. 1911

 58. Which river has tributaries by the name of Dri, Mathun, 
Talon, Eme, Ahi, Emra and Awa?
1. Kaveri 2. Dibang 3. Lohit 4. Godavari
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	 59.	 In which year was the ‘National Food for Work 
Programme’ launched in India?
1.	 2002	 2.	1991	 3.	2004	 4.	2000

	 60.	 Leshalaptu’ is a folk dance of which Indian state?
1.	 Nagaland	 2.	Kerala	 3.	Goa	 4.	Karnataka

	 61.	 Which of the following is the outer layer of the Earth that 
is made of plates which fit together like a jigsaw puzzle?
1.	 Mesosphere			   2.	Asthenosphere
3.	 Biosphere			   4.	Lithosphere

	 62.	 Which one of the following can be categorised as a 
solution?
1.	 Salt	 2.	Diamond	 3.	Sea Water	 4.	Coal

	 63.	 The pouch connected to the junction of the small 
intestine and the large intestine is called:
1.	 caecum	 2.	 coccyx	 3.	 condyle	 4.	axilla

	 64.	 As per the Constitution of India, the subject of ‘livestock 
and animal husbandry’ is included in the:
1.	 Residuary List		 2.	Concurrent List
3.	 Union List			   4.	State List

	 65.	 Which of the following Indian cities is included in the list 
of ‘UNESCO World Heritage Sites’?
1.	 Srinagar			   2.	Hyderabad
3.	 Murshidabad			  4.	Ahmedabad

	 66.	 Who became the first female to be appointed to the ICC 
International Panel of Match Referees in 2019?
1.	 Jhulan Goswami	 2.	GS Lakshmi
3.	 Sudha Shah			   4.	Diana Edulji

	 67.	 In which of the following states is ‘Me-Dam-Me-Phi’ the 
festival of ancestor worship celebrated?
1.	 Madhya Pradesh	 2.	Assam
3.	 Odisha			   4.	Chhattisgarh

	 68.	 Which mineral is also known as ‘fool’s gold’?
1.	 Fluorite	 2.	Pyrite	 3.	Magnetite	 4.	Quartz

	 69.	 Abhijit Vinayak Banerjee was awarded the 2019 Nobel 
Memorial Prize in:
1.	 Literature			   2.	Economics
3.	 Chemistry			   4.	Physics

	 70.	 As of October 2019, how many nuclear power plants are 
present in India?
1.	 9	 2.	5	 3.	11	 4.	7

	 71.	 What kind of relationship exists between income and 
demand in case of normal goods?
1.	 There is no impact of income on demand.
2.	 There is a direct relationship.
3.	 There is an inverse relationship.
4.	 Sometimes there is a direct and sometimes an inverse 

relationship.
	 72.	 Which substance covers the root of the tooth?

1.	 Dentin	 2.	Enamel	 3.	Pulp	 4.	Cementum
	 73.	 Which chemical law proposes that ‘soft drinks and soda 

bottles are sealed under high pressure to increase the 
solubility of CO2’?
1.	 Dalton’s law			   2.	Henry’s law
3.	 Ohm’s law			   4.	Raoult’s law

	 74.	 Which Governor-General of India, in 1772, introduced 
two courts in each district – a criminal court (faujdari 
adalat) and a civil court (diwani adalat)?
1.	 Robert Clive			   2.	Richard Wellesley
3.	 Warren Hastings	 4.	Lord Dalhousie

	 75.	 As of October 2019, what is the maximum amount of 
loan granted by a scheduled commercial bank that is 
covered under the Credit Guarantee Fund Scheme for 
Micro and Small Enterprises?
1.	 `150 lakh	 2.	`200 lakh	 3.	`50 lakh	 4.	`100 lakh

	 76.	 Who became the first Indian male squash player to enter 
the top 10 in the PSA world rankings?
1.	 Mahesh Mangaonkar	 2.	Ramit Tandon
3.	 Cyrus Poncha			  4.	Saurav Ghosal

	 77.	 What is the primary function of the eccrine glands?
1.	 To produce growth hormones
2.	 To produce colour of the skin
3.	 To produce sweat
4.	 To produce body hair

	 78.	 Who is first Indian rower to win a gold at the Asian 
Games in the year 2010?
1.	 Sawarn Singh			  2.	Dattu Baban Bhokanal
3.	 Bajrang Lal Takhar	 4.	Dushyant Chauhan

	 79.	 The breaking up and decay of exposed rocks by 
temperature changes, frost action, plants, animals and 
human activity is called:
1.	 Smelting			   2.	Erosion
3.	 Weathering			   4.	Deforestation

	 80.	 Which explorer discovered a sea route to India in 1498?
1.	 Vasco da Gama	 2.	Marco Polo
3.	 Thomas Coryat	 4.	Megasthenes

	 81.	 Which one of the following is a distinctive characteristic 
of angiosperm?
1.	 Thick bark			   2.	Concealed seeds
3.	 Long leaf			   4.	Small roots

	 82.	 ‘A Century Is Not Enough’ is an autobiography of:
1.	 Rahul Dravid			  2.	Sachin Tendulkar
3.	 Anil Kumble			   4.	Sourav Ganguly

	 83.	 In which year was the first-ever motion to remove a Supreme 
Court Justice signed, by 108 members of the Parliament?
1.	 1996	 2.	1978	 3.	1984	 4.	1991

	 84.	 Who is the author of the book ‘The Free Voice: On 
Democracy, Culture and the Nation’?
1.	 Barkha Dutt			   2.	Rahul Kanwal
3.	 Ravish Kumar		  4.	Arnab Goswami

	 85.	 How many sites were chosen from India for the 2019 
UNESCO Asia-Pacific Awards for Cultural Heritage 
Conservation?
1.	 Five	 2.	Four	 3.	Two	 4.	Three

	 86.	 Which of the following is an international agreement 
between governments that aims to ensure that 
international trade in specimens of wild animals and 
plants does not threaten their survival?
1.	 BRICS	 2.	CITES	 3.	GATS	 4.	OPEC

	 87.	 Which article of the Constitution of India states that ‘all 
authorities, civil and judicial, in the territory of India 
shall act in aid of the Supreme Court’?
1.	 Article 157	 2.	Article 137	 3.	Article 121	 4.	Article 144

	 88.	 Which mineral is popularly known as ‘buried sunshine’?
1.	 Coal	 2.	Bauxite	 3.	Mica	 4.	Iron

	 89.	 ‘Ali-Aye-Ligang’, a spring festival, is associated with 
which state?
1.	 Sikkim	 2.	Bihar	 3.	Assam	 4.	Odisha

	 90.	 Who became the first player of Indian origin to play in 
an NBA game?
1.	 Palpreet Singh		 2.	Satnam Singh
3.	 Sim Bhullar			   4.	Amjyot Singh

	 91.	 Which muscles in the skin contract to make the hairs on 
our skin stand up straight (goose bumps) when we are 
cold or frightened?
1.	 Elastin			   2.	Epidermis
3.	 Arrector pili			   4.	Collagen

	 92.	 How many tiers are there in the Panchayati Raj structure?
1.	 Five	 2.	Three	 3.	Two	 4.	Four
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 93. Edwin Lutyens and Herbert Baker are two architects 
credited to have designed the city of:
1. New Delhi   2. Chandigarh
3. Allahabad (Prayagraj) 4. Raipur

 94. In the plant kingdom, ‘Ferns and Fern allies’ belong to 
which group?
1. Bryophyta   2. Gymnosperms
3. Thallophyta   4. Pteridophyta

 95. Who ruled Mysore under a subsidiary alliance with the 
British after the defeat of Tipu Sultan at the Battle of 
Seringapatam?
1. Gangas 2. Kadambas 3. Pandyans 4. Wodeyars

 96. ‘Jnanpith Award’, one of India’s highest literary award, 
was conceived in the year:
1. 1957 2. 1969 3. 1961 4. 1972

 97. Representatives of the Maratha Empire and the British 
East India Company signed the ‘Treaty of Salbai’ in 
which year?
1. 1782 2. 1769 3. 1771 4. 1758

 98. The physics phenomenon when, in polar regions like 
Alaska and Northern Canada, a splendid display of 
colours is seen in the sky is called a/an:
1. star’s intrinsic luminosity 2. star shower
3. active galactic nucleus 4. aurora borealis

 99. What is India’s ranking in the Global Economic Freedom 
index 2019?
1. 83rd 2. 62nd 3. 55th 4. 79th

100. The ‘Hemis Tsechu’ festival commemorates the birth 
anniversary of:
1. Adi Shankaracharya 2. Guru Padmasambhava
3. Dalai Lama   4. Gautama Buddha

Quantitative Aptitude

101. At what percentage rate, compound interest 
compounded annually for a sum of `40,000, will amount 
to `44,100 in two years?
1. 5 2. 2 3. 4 4. 7.5

102. The height of a right circular cone is 35 cm and the area 
of its curved surface is four times the area of its base. 
What is the volume of the cone (in 10–3m3 and correct up 
to three decimal places)?
1. 3.316 2. 2.994 3. 2.625 4. 3.384

103. What is the HCF of 
4
5

6
8 25

, , ?
8

1. 
1

100
2. 1

5
3.

1
50

4.
1

200
104. The given histogram represents the frequency 

distribution of average runs scored by 50 selected players 
from a district in a local cricket tournament.
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 How many players second more than 30.5 on a average?
1. 28 2. 34 3. 12 4. 16

105. While tabulation of marks scored in an examination 
by the students of a class, by mistake the marks scored 
by one student got recorded as 93 in place of 63, and 
thereby the average marks increased by 0.5. What was 
the number of students in the class?
1. 60 2. 20 3. 15 4. 30

106. If each side of an equilateral triangle is 12 cm, then its 
altitude is equal to:

1. 6 3 cm 2. 3 6 cm 3. 6 2 cm 4. 3 2 cm

107. A chord of the larger among two concentric circles is of 
length 10 cm and its is tangent to the smaller circle. What 
is the area (in cm2) of the annular portion between the 
two circles?

1. 10p 2. 25p 3. 5p 4.
5
2
p

108. Which one among the following is the smallest?

1. 101 99− 2. 201 199−

3. 301 299− 4. 401 399−
109. What is the simplified value of:
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1
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110. The given bar chart represents the average marks 
obtained in English (E) and vernacular (V) by the 
students of five districts (D1, D2, D3, D4, D5) in a state 
at the secondary level examination of a particular year 
(marks secured out of a total of 100).
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 What is the average percentage of marks in English of 
five districts?
1. 73% 2. 67% 3. 75% 4. 68%

111. A pole stands vertically on a road, which goes in the 
north-south direction. P, Q are two points towards the 
north of the pole, such that PQ = b, and the angles of 
elevation of the top of the pole at P, Q are a, b respectively. 
Then the height of

1. 
b

tan tan 
2.

b
tan tan 

3. 
b

cot cot 
4.

b tan
tan




112. The given pie-chart represents the distribution of the 
percentage of sales of a particular brand of car from 
five showrooms A, B, C, D and E during 2018. The 
total number of cars sold during that year from the five 
showrooms is 5000.
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A
48%

B
22%

C
14%

D
9%

E
7%

	 	 What is the total number of cars sold from the showrooms 
B and D?
1.	 1750	 2.	1550	 3.	1650	 4.	1450

113.	 If the word PHOTOGRAPH is spelt with ‘F’ in place of 
‘PH’, then what would be the percentage reduction in 
the number of letters?
1.	 20%	 2.	18%	 3.	10%	 4.	25%

114.	 (4x3y – 6x2y2 + 4xy3 – y4) can be expressed as:
1.	 (x + y)4 – x4			   2.	 (x + y)4 – y4

3.	 (x – y)4 – x4			   4.	x4 – (x – y)4

115.	 4 boys from school A and 6 boys from school B together can 
set up an exhibition in 5 days, which 5 boys from school A 
and 10 boys from school C together can do in 4 days or 3 boys 
from school B and 4 boys from school C together can do in  
10 days. Then how many boys from school A can set up 
the exhibition in one day?
1.	 60	 2.	40	 3.	20	 4.	80

116.	 Pipes A and B can fill an empty tank in 6 and 8 hours 
respectively, while pipe C can empty the full tank in 10 
hours. If all three pipes are opened together, then the 
tank will get filled in:

1.	 4
4
23

hrs 	 2.	 6
1
5

hrs 	 3.	 5
5
23

hrs 	 4.	 7
1
2

hrs

117.	 PQRS is a rectangle. T is a point on PQ such that RTQ 
is an isosceles triangle and PT = 5 QT. If the area of 
the triangle RTQ is 12 3  sq.cm, then the area of the 
rectangle PQRS is:

1.	 144 3 sq.cm 			  2.	142 sq.cm

3.	 134 3 sq.cm 			  4.	 142 3 sq.cm
118.	 A person has to travel a distance of 30 km. He finds 

that he has covered 
5
6

 of the distance in 3 hours and 20 

minutes, what is his speed in km/h?
1.	 6	 2.	5.4	 3.	6.3	 4.	7.5

119.	 The given histogram represents the frequency 
distribution of average runs scored by 50 selected players 
from a district in a local cricket tournament.
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	 	 Which class of boundaries does the frequency of ‘10’ 
correspond to?
1.	 20.5 to 30.5	 2.	10.5 to 20.5	3.	40.5 to 50.5	4.	30.5 to 40.5

120.	 If (2x + 3y + 4)(2x + 3y – 5) is equivalent to  
(ax2 + by2 + 2hxy + 2gx + 2fy + c), then what is the value 
of {(g + f – c)/abh}?

1.	
37
216

	 2.	
35
432

	 3.	
19
108

	 4.	
19
216

121.	 The given histogram represents the frequency 
distribution of average runs scored by 50 selected players 
from a district in a local cricket tournament?

10.5

18
16

6

10
12

16

4
2

14
12
10
8
6
4
2
0

20.5 30.5 40.5
Runs

Fr
eq

ue
nc

y

50.5 60.5 70.5

	 	 What is the overall average score of the 50 players?
1.	 29.3	 2.	38.5	 3.	32.6	 4.	37.1

122.	 Sudeep invested 
1
8

 of a certain sum at 5% p.a. for two 

year and 
3
5  

of the sum at 6% p.a. for two years and the 

remaining at 10% p.a. for two years. If the total interest 
received is `1,674, then the total sum invested in:
1.	 `13,000	 2.	`12,000	 3.	`10,500	 4.	`12,500

123.	 After allowing a 10% discount on the marked price of an 
article, a dealer makes a profit of 5%. What is the marked 
price, if the cost price of the article is `300?
1.	 `400	 2.	`320	 3.	`375	 4.	`350

124.	 The monthly salary of a person was `50,000. He used to 
spend on three heads- personal and family expenses (E), 
taxes (T), philanthropy (P), and rest were his savings, E 
was 50% of the income, T was 20% of E and P was 15% 
OF T. When his salary got raised by 40%, he maintained 
the percentage level of E, but T became 30% of E and P 
became 20% of T. By what percentage is the new savings 
more or less than the earlier savings? (correct up to one 
decimal place)
1.	 16.4% more			   2.	8.2% less
3.	 8.2% more			   4.	16.4% less

125.	 The following pie-chart and table show the percentage 
distribution of farmers in 4 states A, B, C, D & E of a 
country who claimed insurance due to drought in the 
year 2017 and ratio of males to females of the number of 
farmers in states, respectively.

	 	 Study the pie-chart and the table carefully and answer 
the following question.

	 	 Note: Some data are missing in the pie-chart and table, if 
required in any question, find the missing data first and 
then answer the question.

	 	 Total number of farmers who claimed insurance in the 
year 2017 = 2,64,000

E A
24%

D
20%

C
36%

B
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States
Ratio of Male to Female in the farmers 

who claimed insurance in 2017

Male : Female

A 05:03

B 04:01

C .......

D 5 : __

E 03:02

	 	 The number of farmers who claimed insurance in state 
C exceeds the total number of farmers (who claimed 
insurance) in state E and state A together by 5280. What 
is the percentage of farmers who claimed insurance in 
state E?
1.	 10%	 2.	15%	 3.	40%	 4.	25%

126.	 A, B and C enter into a partnership with capitals in the 

ratio 
2
3

3
5

5
6

: : .
 
After 8 months, A increase his share of 

capital by 25%. If at the end of the year, the total profit 
earned in `5,820, then the share of C in the profit is:
1.	 `2,050	 2.	`2,350	 3.	`2,450	 4.	`2,250

127.	 (320 + 342 + 530 + 915) ÷ (20 + 22 – x + 18) = 43, then 
the value of x is:
1.	 15	 2.	11	 3.	26	 4.	23

128.	 Out of the two bar graphs provided below, one shows 
the amounts (` in Lakhs) invested by a company in 
purchasing raw materials over the years and the other 
shows the value (` in Lakhs) of finished goods sold by 
the company over the years.
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	 	 What was the difference between the average amount 
invested in raw materials during 1997 to 2000 and the 
average value of sales of finished goods during the same 
period 1997 to 2000?
1.	 77.5 lakhs	 2.	70.5 lakhs	 3.	76.5 lakhs	 4.	87.5 lakhs

129.	 The given bar chart presents the average marks obtained 
in English (E) and vernacular (V) by the students of five 
districts (D1, D2, D3, D4, D5) in a state at the secondary 
level examination of a particular year (marks secured out 
of a total of 100).
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	 	 What is the difference between the average percentage of 
marks in vernacular of the districts (D1, D2, D4) and (D3, D5)?
1.	 1.7%	 2.	11.3%	 3.	22.5%	 4.	3.5%

130.	 What is the simplified value of

	 	

1
1

4 2

1 1
1
3

2

15
16

2
3

2
1
4

3 4
3 43 3


























   


 of 

1.	
5

13
	 2.	

4
13

	 3.	
8

13
	 4.	

6
13

131.	 Which is the largest six digit number, which when 
divided by 12, 15, 20, 24 and 30, leaves the remainders 8, 
11, 16, 20 and 26 respectively.
1.	 999956	 2.	999982	 3.	999960	 4.	999964

132.	 If the six-digit number 479 xyz is exactly divisible by 7, 11 
and 13, then {(y + z) ÷ x} is equal to:

1.	 4	 2.	
11
9

	 3.	
7
13

	 4.	 13
7

133.	 60 discs each of diameter 21 cm and thickness 
1
3

 cm are stacked on above the other to form a right 

circular cylinder. What is its volume in m3 if p = 
22
7

?

1.	 7.62 × 10–2	 2.	8.05 × 10–3	3.	6.93 × 10–3	 4.	4.25 × 10–2

134.	 What is (0.08% of 0.008% of 8)1/9?
1.	 0.2	 2.	0.08	 3.	0.8	 4.	0.64

135.	 An article was sold for `98,496 after providing three 
successive discounts of 10%, 5% and 4% respectively on 
the marked price. What was the marked price?
1.	 `1,20,000	 2.	`1,10,700	 3.	`1,20,200	 4.	`1,20,500

136.	 The given pie-chart represents the distribution of the 
percentage of sales of a particular brand of car from 
five showrooms A, B, C, D and E during 2018. The 
total number of cars sold during that year from the five 
showrooms is 5000.

A
48%

B
22%

C
14%

D
9%

E
7%

	 	 What is the central angle (nearest to 0.1 degree) of the 
sector corresponding to the sales from the showroom C?
1.	 48.6	 2.	60.5	 3.	56.7	 4.	50.4

137.	 If 0 £ q £ 90°, and sec107q + cos107q = 2, then, (secq + cosq) 
is equal to:

1.	 2	 2.	1	 3.	
1
2

	 4.	2–107
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138. A clock tower strands at the crossing of two roads which 
point in the north-south and the east-west directions. P, 
Q, R and S are points on the roads due north, east, south 
and west respectively, where the angles of evaluation of 
the top of the tower are respectively, a, b, g and d. Then 
PQ
RS







2

 is equal to:

1. 
tan tan
tan tan

2 2

2 2
 
 



2.
cot cot
cot cot

2 2

2 2
 
 



3. 
cot cot
cot cot

2 2

2 2
 
 



4.
tan tan
tan tan

2 2

2 2
 
 



139. If 0 £ q £ 90°, and sin (2q + 50°) = cos (4q + 16°), then 
what is the value of q (in degrees)?
1. 10° 2. 8° 3. 4° 4. 12°

140. A cylinder 84 cm long is made of steel. Its external and 
internal diameters are 10 cm and 8 cm respectively. What 
is the volume of the steel in the cylinder (in 10–3m3 and 
correct up to three decimal places)?
1. 2.112 2. 9.504 3. 2.376 4. 4.752

141. If 10 men can complete a piece of work in 12 days by 
working 7 hours a day, then in how many days can 14 
men do the same work by working 6 hours a day?
1. 15 2. 16 3. 10 4. 12

142. I purchase 100 kg of tea and sell it for a profit to the 
extent of what I would have paid for 40 kg. What is my 
profit percentage?
1. 30% 2. 20% 3. 25% 4. 40%

143. In a DABC, angle BAC = 90°. If BC = 25 cm, then what is 
the length of the median AD?
1. 10 cm 2. 12.5 cm 3. 14.5 cm 4. 24 cm

144. The two parallel sides of a trapezium are 27 cm and 13 
cm respectively. If the height of the trapezium is 8 cm, 
then what is its area in m2?
1. 0.032 2. 0.056 3. 0.016 4. 0.32

145. The ratio of two numbers is 3 : 5. If eight is added to the 
first, and seven to the second, then the ratio becomes 2 : 
3. What will be the ratio become if six is  added to each?
1. 9 : 14 2. 5 : 7 3. 5 : 9 4. 7 : 9

146. The average run rate of a circle team during the first 20 
overs is 4.5. What should be the asking rate per over for the 
next 30 years, if it has to chase a target of 282 runs in total?
1. 6.3 2. 6.0 3. 6.4 4. 6.8

147. A wheel has diameter 84 cm, then how far 
does the wheel go (in metres) in 16 revolution? 

(Take p = 
22
7

)

1. 42.24 2. 21.12 3. 36.28 4. 27.48
148. The speed of two railway engines is in the ratio 5 : 4. If 

they move on parallel tracks in the same direction and if 
the slower engine is ahead of the faster engine by 8 km 
when the latter starts, then how far will the faster engine 
have to travel before it overtakes the slower one?
1. 32 2. 48 3. 40 4. 36

149. What is the simplified value of:

1
8

1 1
2 2

x
y

x
y










  























1. x
y

2.
2x
y

3. x
y2

4.
4x
y

150. Three pipes, A, B, C can fill an empty cistern in 2, 3 and 6 
hours respectively. They are opened together. After what 
time should B be closed, so that the cistern gets filled in 
exactly 1 hr 15 min?

1. 20 min 2. 45 min 3. 30 min 4. 15 min

English Comprehension

151. Select the most appropriate synonym of the given word.
 FASCINATING
1. tiring 2. boring 3. appealing 4. stupid

152. Select the most appropriate synonym of the given word. 
 ADEQUATE
1. sufficient 2. unfit 3. inept 4. meagre

Comprehension:
In the following passage some words have been deleted. Fill 
in the blanks with the help of the alternatives given. Select 
the most appropriate option for each blank. 
I had seen the magic shop from afar several times. I had 
passed (1)_____ once or twice, a shop window of (2)_____ 
little objects, magic balls, magic hens, wonderful cones, magic 
dolls and all those (3)_____ of things. But never had I thought 
of going in (4)_____ one day, Gip hauled me by my finger - 
right (5)_____ to the window. 

153. Select the most appropriate option to fill in blank No.1.
1. these 2. them 3. it 4. this 

154. Select the most appropriate option to fill in blank No.2.
1. allured 2. allures 3. alluring 4. allure

155. Select the most appropriate option to fill in blank No.3.
1. pattern 2. sort 3. shape 4. design

156. Select the most appropriate option to fill in blank No.4.
1. since 2. until  3. while 4. after

157. Select the most appropriate option to fill in blank No.5.
1. up 2. in 3. out 4. down

158. Select the option that can be used as a one-word 
substitute for the given group of words. 

Words written on a tombstone in the memory of the person 
who has died
1. epilogue 2. epitaph 3. stela 4. prologue 

159. Select the most appropriate ANTONYM of the given word.
 INTENTIONAL
1. voluntary 2. accidental 3. designed 4. calculated

160. Select the most appropriate word to fill in the blank. 
 This is the girl _____ is going to IIT, Delhi.
1. which 2. whom 3. who 4. that

161. Select the most appropriate word to fill in the blank. 
 If only we _____ a light! It is depressing to wait in the 
dark.
1. are having   2. have
3. had   4. have had

162. Select the most appropriate word to fill in the blank. 
 We haven’t been to Gangotri _____ almost ten years.
1. for 2. from 3. to 4. since

163. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’. 

 The authorities are looked on the matter.
1. are looking on the matter
2. are looking into the matter
3. are looked into the matter
4. No substitution

164. Identify the segment in the sentence which contains the 
grammatical error. 

 A large section of a hotel under construction collapse in 
New Orleans last Saturday.
1. a large section of a hotel 2. collapse in New Orleans
3. last Saturday   4. under construction 
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165.	 Select the most appropriate synonym of the given word. 
	 	 CONTAMINATE

1.	 sanctify	 2.	purify	 3.	pollute	 4.	cleanse 
166.	 Select the INCORRECTLY spelt word.

1.	 jumble	 2.	 jovial	 3.	 journy	 4.	junior
167.	 Select the most appropriate ANTONYM of the given 

word. 
	 	 LAMENT

1.	 bemoan	 2.	appeal	 3.	bleed	 4.	celebrate 
168.	 Select the most appropriate meaning of the underlined 

idiom in the given sentence. 
	 	 Our PM is received with open arms wherever he goes.

1.	 Honourably			   2.	Promptly
3.	 Warmly			   4.	Harmoniously

169.	 Select the most appropriate ANTONYM of the given 
word. 

	 	 ENRAGED
1.	 livid			   2.	aggravated
3.	 pleased			   4.	 infuriated 

170.	 In the sentence identify the segment which contains the 
grammatical error.

	 	 Across his morning walk on a beach in Mamallapuram, 
Prime Minister Modi was seen picking up plastic litter, 
bottles, and other items.
1.	 Across his morning walk
2.	 picking up plastic litter
3.	 on a beach in Mamallapuram
4.	 Prime Minister Modi was seen

171.	 Select the most appropriate word to fill in the blank. 
	 	 He obtained 80% marks in Science in High School. He 

has qualified _____ the science stream in plus two.
1.	 for	 2.	at	 3.	 to	 4.	in

172.	 Select the option that can be used as a one-word 
substitute for the given group of words 

	 	 A small building or room used for Christian worship in a 
school, prison, hospital or large private house.
1.	 cathedral			   2.	 church
3.	 congregation			   4.	 chapel

173.	 Select the INCORRECTLY spelt word.
1.	 redius	 2.	 realm	 3.	 resemble	 4.	reliable

174.	 Select the most appropriate ANTONYM of the given 
word. 

	 	 APPLAUD
1.	 denounce	 2.	magnify	 3.	 commend	 4.	approve

175.	 Select the most appropriate word to fill in the blank. 
	 	 Milk is _____ than any other food.

1.	 more nourishing	 2.	nourishing
3.	 most nourishing	 4.	as nourishing

176.	 Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’. 

	 	 I enjoy to watch a good detective movie.
1.	 watch			   2.	watched
3.	 no substitution	 4.	watching

177.	 Select the INCORRECTLY spelt word.
1.	 labour	 2.	 lantern	 3.	 literature	 4.	laboratery

178.	 Select the most appropriate synonym of the given word.
	 	 SUBSEQUENT

1.	 prior			   2.	preceding
3.	 antecedent			   4.	 consecutive

179.	 Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’. 

	 	 I couldn’t got some sleep because the people in the next 
room were talking very loudly.

1.	 couldn’t get some sleep
2.	 couldn’t got any sleep 
3.	 no substitution
4.	 couldn’t get any sleep 

180.	 Select the INCORRECTLY spelt word.
1.	 mysterious			   2.	 ridiculous
3.	 mischivious			   4.	humorous

181.	 Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’. 

	 	 Rahul thinks that this is quite the cheap restaurant.
1.	 so the cheap		 2.	no substitution
3.	 quite a cheap	4.	 so a cheap

182.	 Select the INCORRECTLY spelt word.
1.	 pillion	 2.	pioneer	 3.	pigeon	 4.	puddel

183.	 Identify the segment in the sentence which contains the 
grammatical error. If there is no error, select ‘No error’ 

	 	 We watched the workmen to repair the tiles of the kitchen.
1.	 we watched the workmen
2.	 no error
3.	 of the kitchen
4.	 to repair the tiles

184.	 Select the option that can be used as a one-word 
substitute for the given group of words. 

	 	 A person who believes that war and violence are 
unjustifiable 
1.	 pacifist	 2.	anarchist	 3.	optimist	 4.	pessimist

185.	 Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’. 

	 	 The tree was uprooted by the storm last evening, isn’t it?
1.	 didn’t it			   2.	wasn’t it
3.	 was it			   4.	No substitution

186.	 Select the most appropriate meaning of the underlined 
idiom in the given sentence. 

	 	 In spite of her severe accident she took heart and moved 
forward.
1.	 gathered courage	 2.	 felt depressed
3.	 overcame problems	 4.	acted promptly

187.	 Select the most appropriate synonym of the given word.
	 	 TRANQUIL

1.	 nervous	 2.	agitated	 3.	 calm	 4.	wild
188.	 Select the most appropriate ANTONYM of the given 

word. 
	 	 INFINITE

1.	 limited	 2.	vast	 3.	eternal	 4.	boundless
189.	 Select the option that can be used as a one-word 

substitute for the given group of words.
	 	 A person who can endure pain or hardship without 

showing his feelings or complaining
1.	 agnostic	 2.	 stoic	 3.	ascetic	 4.	pedant

190.	 Select the option that can be used as a one-word 
substitute for the given group of words. 

	 	 A person who held a job or office before the current holder
1.	 predecessor	2.	ancestor	 3.	 successor	 4.	descendant

191.	 Select the most appropriate meaning of the underlined 
idiom in the given sentence. 

	 	 Trying to find my lost ring in the college is like looking 
for a needle in a haystack.
1.	 doing something impossible
2.	 making a big deal of a small thing
3.	 doing something secretly
4.	 doing something unimportant 
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192.	 In the sentence identify the segment which contains the 
grammatical error. 

	 	 ‘Plogging’ is an international trend, in which someone 
picking up trash while jogging or brisk walking.
1.	 in which someone
2.	 picking up trash
3.	 ‘Plogging’ is an international trend
4.	 while jogging or brisk walking 

193.	 Identify the segment in the sentence which contains the 
grammatical error. If there is no error, select ‘No error’ 

	 	 In about two weeks our holidays will start.
1.	 no error			   2.	 In about two weeks 
3.	 will start			   4.		 our holidays

194.	 Select the most appropriate meaning of the underlined 
idiom in the given sentence. 

	 	 Off and on I take a break from my hectic schedule to 
refresh myself.
1.	 rarely			   2.	 seldom
3.	 immediately			   4.	periodically

Comprehension:
Read the following passage and answer the questions given 
after it. 
The excitement of bird watchers on spotting a particular 
species for the very first time is unparalleled. With eyes 
shining and pride bursting, they exclaim, “I had a lifer today”, 
or “It was a lifer for me”. For the longest time, I couldn’t 
fathom what all the fuss was about. I mean, at some point in 
their lives, even a crow or mynah would have been a lifer — 
seen for the very first time. So, here, I’ve done a bit of jugaad 
with the term and define it as a bird that you see maybe 
(but not necessarily) for the first time, but which has made a 
lasting, life-changing impact on you. Then I recalled some of 
my own “lifers”.
Number 1 is the little coppersmith barbet. The first bird I saw 
through brand new, big and powerful binoculars — and it 
was solely responsible for my getting interested in birds. The 
fellow looked like a tubby little clown with hiccups and that 
just blew me away.
I will never forget the first time I saw grey hornbills aeons 
ago: over sullen grey skies in the Borivali National Park 
(now called Sanjay Gandhi National Park) — squealing 
as they flew high up across the sky. They looked as if they 
had just left Jurassic Park. Or, for that matter, their larger, 
more glamorous, cousins — Great pied hornbills. Tramping 
through a streambed in Kalagarh (near Corbett), we suddenly 
heard this rasping, whooshing, sound. Up there, in the clear 
blue, were six-seven huge black-and-white birds with colossal 
yellow beaks flying in tandem across the clear blue sky, their 
wings making the rasping sound.
Say “paradise flycatcher” and a birder’s eyes will begin to 
glint: “Where? When? Will it be there now?” are questions 
that will be shot out like machine-gun bullets. The first time I 
saw a full grown milk-white-and-glossy-black male, with its 

glamorous 18-inch streamer tail, was at the Sultanpur National 
Park in Haryana. But I remember better the flycatchers, that 
made me run around in a tea garden in Palampur, teasingly 
whistling at me from one end to the other. The nesting pair 
in Naukuchiatal was more accommodating except that I 
had to stand knee- deep in the hotel’s garbage dump to get 
a good view of them flitting to and fro the gully nearby. To 
compensate, one actually flew nearly down to my feet to 
snatch up a bluebottle I had missed.
Of course, there have been rarities: the highlight of the 
regular Bharatpur (the Keoladeo National Park) visits was the 
darshan of VIP Siberian cranes. Then they stopped coming, 
which was a first indication of their slow extinction — even 
if it was just “local” to our area. The gloriously uppity Great 
Indian bustards in the Karera Sanctuary (Madhya Pradesh) 
were another unforgettable sighting. The sheer disdain with 
which they flounced away from our howling, jolting jeep and 
took to their wings was a lesson in being put in your place. 
Now, not only does the sanctuary not exist anymore but those 
magnificent muscular birds are crashing to total extinction. 
195.	 According to the passage which sanctuary does NOT 

exist anymore?
1.	 Keoladeo National Park, Bharatpur
2.	 Sultanpur National Park, Haryana
3.	 Sanjay Gandhi National Park
4.	 Karera Sanctuary, Madhya Pradesh 

196.	 Which pair of birds did the author see in Naukuchiatal?
1.	 Coppersmith barbet	 2.	Paradise flycatcher
3.	 Hornbill			   4.	Great Indian bustard

197.	 Which bird is black and white with a huge yellow beak?
1.	 Siberian crane		  2.	Paradise flycatcher
3.	 Grey hornbill			  4.	Great pied hornbill

198.	 What does the word ‘lifer’ mean for the author?
1.	 A bird that you see for the first time
2.	 A bird which is becoming extinct
3.	 A bird which makes a life-changing impact on you
4.	 A bird that you love 

199.	 Match the words with their meaning.
	 		  Words 		  Meanings
	 	 a.	 fathom 		  1. team
	 	 b.	 aeons 		  2. understand
	 	 c.	 tandem 		  3. ages

1.	 a-2, b-1, c-3			   2.	a-1, b-3, c-2
3.	 a-2, b-3, c-1			   4.	a-3, b-2, c-1 

200.	 Select the most appropriate meaning of the underlined 
idiom in the given sentence.

	 	 Mrs. Arora has got the green light from the principal to 
organise a science conference in the college.
1.	 Got permission to go ahead with something
2.	 Got energy and motivation to do something
3.	 Got fired for doing something
4.	 Got the work started

Answer Key 

1. (4) 2. (2) 3. (3) 4. (4) 5. (4) 6. (3) 7. (2) 8. (1) 9. (2) 10. (3)
11. (2) 12. (1) 13. (4) 14. (2) 15. (3) 16. (4) 17. (1) 18. (4) 19. (3) 20. (2)
21. (1) 22. (4) 23. (4) 24. (4) 25. (1) 26. (4) 27. (4) 28. (3) 29. (4) 30. (4)
31. (4) 32. (2) 33. (3) 34. (1) 35. (4) 36. (4) 37. (2) 38. (4) 39. (2) 40. (1)
41. (3) 42. (4) 43. (1) 44. (2) 45. (4) 46. (1) 47. (1) 48. (2) 49. (3) 50. (3)
51. (2) 52. (2) 53. (4) 54. (3) 55. (2) 56. (1) 57. (4) 58. (2) 59. (3) 60. (1)
61. (4) 62. (3) 63. (1) 64. (4) 65. (4) 66. (2) 67. (2) 68. (2) 69. (2) 70. (4)
71. (2) 72. (4) 73. (2) 74. (3) 75. (2) 76. (4) 77. (3) 78. (3) 79. (3) 80. (1)
81. (2) 82. (4) 83. (4) 84. (3) 85. (2) 86. (2) 87. (4) 88. (1) 89. (3) 90. (3)
91. (3) 92. (2) 93. (1) 94. (4) 95. (4) 96. (3) 97. (1) 98. (4) 99. (4) 100. (2)
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101. (1) 102. (2) 103. (1) 104. (2) 105. (1) 106. (1) 107. (2) 108. (4) 109. (1) 110. (1)
111. (3) 112. (2) 113. (1) 114. (4) 115. (2) 116. (3) 117. (1) 118. (4) 119. (1) 120. (2)
121. (4) 122. (2) 123. (4) 124. (1) 125. (1) 126. (4) 127. (2) 128. (1) 129. (3) 130. (2)
131. (1) 132. (1) 133. (3) 134. (1) 135. (1) 136. (4) 137. (1) 138. (2) 139. (3) 140. (3)
141. (3) 142. (4) 143. (2) 144. (3) 145. (1) 146. (3) 147. (1) 148. (3) 149. (3) 150. (3)
151. (3) 152. (1) 153. (4) 154. (3) 155. (2) 156. (2) 157. (1) 158. (2) 159. (2) 160. (3)
161. (3) 162. (1) 163. (2) 164. (2) 165. (3) 166. (3) 167. (4) 168. (3) 169. (3) 170. (1)
171. (1) 172. (4) 173. (1) 174. (1) 175. (1) 176. (4) 177. (4) 178. (4) 179. (4) 180. (3)
181. (3) 182. (4) 183. (4) 184. (1) 185. (2) 186. (1) 187. (3) 188. (1) 189. (2) 190. (1)
191. (1) 192. (2) 193. (1) 194. (4) 195. (4) 196. (2) 197. (4) 198. (3) 199. (3) 200. (1)

Answers with Explanations
	 1.	 Option (4) is correct.
	 	Among apple, pear, orange, guava and melon, orange is 

a citrus fruit.
	 	But an orange is called a guava.
	 	Hence, “Guava” is the correct answer.
	 2.	 Option (2) is correct.
	 The pattern is:
	 B 	→	ABC
	 R	→	QRS
	 I	 →	HIJ
	 D	→	CDE
	 G	→	FGH
	 E	 →	DEF

	 Similarly,
	 P	 →	OPQ
	 O	→	NOP
	 W	→	VWX
	 E	 →	DEF
	 R	→	QRS

	 3.	 Option (3) is correct.
	 	We can arrange them according to the size of the 

memory. The order will be Hectometer, Decameter, 
Decimeter, Centimeter, Millimeter. (Hint: We know after 
centimeter, comes Millimeter so at last, we must have 4, 
2 which is in only one option).

	 	Hence, 3, 1, 5, 4, 2 is the correct answer.
	 4.	 Option (4) is correct.
	 	The process of unfolding is shown below

	 5.	 Option (4) is correct.
	 	We know that sun is a star and mercury is a planet. Now, 

sun will come inside the stars and mercury will be separate. 

Sun
Mercury

Stars

	 6.	 Option (3) is correct.
	 The pattern is:

	 Option 1: 25 16 9  	 Option 2: 64 100 18 
	 Option 3: 81 9 12 ( ) 	 Option 4: 16 64 12 ( )
	 	Therefore, option 3 doesn’t follow the same pattern as 

others.
	 7.	 Option (2) is correct.
	 	The given figure shows how it is embedded.

	 8.	 Option (1) is correct.
	 	Wall, Floor and ceiling are non-electric devices and Fan 

is an electric device.
	 	Hence, Fan is the correct answer. 

	 9.	 Option (2) is correct.
	 	When the mirror is placed at the right place, then the 

objects which are positioned on the left-hand side will 
appear on the right-hand side and the objects which 
appear on the left-hand side will appear on the right-
hand side and the position of object will change itself.

SIR

	 10.	 Option (3) is correct.
	 	We know that all mothers are females so mothers will 

come inside females and some mothers can be doctors 
as well. 

Mothers
Doctor

Females

	 11.	 Option (2) is correct.
	 	We know that a rectangle has two diagonals. So, we have 

2 × 4 = 8 triangles and we have such FVRS.
	 	And we also know when we have a triangle with a 

perpendicular, then we have 3 triangles and we have 
VRB, DHI, PIK, POK, GSF, BHD, PLK

	 	In total, we have 21 + 8 = 29 
	 	Now, we have to count random triangles so we have 

GRH, KOI, IKJ, AFB.
A B C D E

F

G H I
J

K

L

M
N

O

P

QR

S

T

U

V

	 	Therefore, total number of triangles is 33.
	 	Hence, 33 is the correct answer.
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	 12.	 Option (1) is correct.
	 The pattern is:
	 Second number = (first number × 2) + (1/4th of first 

number)
	 76 : 171
	 171 = (76 × 2) + (1/4th of 76)
	 171 = 152 + 19
	 171 = 171
	 Similarly,
	 Option 1: 28 : 63 → 63 = (28 × 2) + (1/4th of 28)  

= 56 + 7 = 63 = 63
	 Option 2: 24: 39 → 39 = (24 × 2) + (1/4th of 24)  

= 48 + 6 = 54 ≠ 39
	 Option 3: 62: 135 → 135 = (62 × 2) + (1/4th of 62)  

= 124 + 15.5 = 139.5 ≠ 135
	 Option 4: 52: 115 → 115 = (52 × 2) + (1/4th of 52)  

= 104 + 13 = 117 ≠ 115
	 “28 : 63“share the same relationship as that shared by the 

given pair of numbers.
	 	Hence, “28: 63” is the correct answer.

	 13.	 Option (4) is correct.
	 	In the above figures, a line with a triangle is moving 

first by one line and then two lines alternatively in 
anticlockwise direction. 

	 14.	 Option (2) is correct.
		 Conclusion I: Government understands the condition 

of poor farmers that is why the Government has taken 
the initiative to start the upliftment of the poor farmers.

	 	So, Conclusion I is true.
		 Conclusion II: It doesn’t mean that the Government 

has started effort for the upliftment of the poor and 
that other section has not been uplifted and thus is 
false. (Note: In statement conclusion, we cannot assume 
anything by our own).

	 15.	 Option (3) is correct.

Starting Point

C

35
70

30

A

B

D

35

	 	Between starting point and A, we have a distance of 40 
m and the direction is North.

	 	Hence 40m, North is the correct answer.
	 16.	 Option (4) is correct.
	 The pattern is:
	 	RIVER is written as 10 - 3 - 5 - 2 - 10.
	 	We can observe that the vowel ‘E’ is given ‘2’ and ‘I’ 

is given 3. From this, we can conclude that the vowels 
A, E, I, O, U are given continuous numbers 1, 2, 3, 4, 5, 
respectively. So, in the word PETROL, E stands for 2 and 
O stands for 4. Now, ‘V’ in RIVER is given number 5 
which substantiates the fact that the letters of alphabet 
for consonants are given reverse numbering. So, if ‘R’ is 
10, ‘P’ is 12 and ‘T’ is 8. So, ‘L’ would be ‘16’.

	 	Therefore, the code for the word PETROL is 12 - 2- 8 - 10 
- 4 - 16.

	 17.	 Option (1) is correct.
	 The pattern is 

	

7 1 7 4 1 8 5 1 5 5 2 5 7
10

14
6 6 6

20 26 32
24 44 70 102

	 	Hence, 155 is the correct answer. 
	 18.	 Option (4) is correct.
	 The pattern is a series formed by adding 4 and then 

dividing by 2.
	 104 + 4 = 108
	 then divide by 2.

	
108

2
 = 54.

	 54 + 4 = 58
	 then divide by 2

	
58
2

 = 29.

	 29 + 4 = 33 instead of 31. 
	 	Hence, 31 is the correct answer. 
	 19.	 Option (3) is correct.
	 	Since MET is the same in all the words, we will check the 

next words which are i, r, h, t, e. We know e comes first 
out of all letters so the word will be Meter. Now, after 
that we have h so the 2nd word is Method Similarly, we 
have the arrangement like 5, 3, 1, 2, 4.

	 20.	 Option (2) is correct.
	 	Taking column wise, the pattern is (1st number + 2nd 

number) × 2 = 3rd number.
	 Column 1: (3 + 14) × 2 = 34
	 Column 2: (18 + 13) × 2 = 62
	 Column 3: (27 + n) × 2 = 98
	 Þ n = 22
	 Hence, the value of ? is 22.
	 21.	 Option (1) is correct.

A

B C
5

4

6

8

6

	 	We know ABC is a triangle and we also know that
	 H2 = P2 + B2

	 (AC)2 = (BC)2 + (AB)2

	 Þ (AC)2 = 4 × 4 + 3 × 3

	 Þ (AC)2 = 9 + 16 Þ AC = 25  Þ AC = 5 km
	 	Hence, the shortest distance is 5 km. 
	 22.	 Option (4) is correct.
	 The pattern is:
	 A	+ 5	 F
	 O	+ 6	 U
	 E	 + 5	 J

	 Similarly,
	 R	 + 5	 W
	 K	+ 6	 Q
	 T	 + 5	 Y

	 	Hence, WQY is the correct answer. 
	 23.	 Option (4) is correct.
	 	We know that Stars, Planets, Galaxies are astronomical 

bodies and Rockets are man made.
	 	Hence, Rockets is the correct answer.
	 24.	 Option (4) is correct.
	 	We know that wheel is made up of spokes. Similarly, 

House is made up of the Rooms and thus  following the 
same relation.

	 	Hence, House: Room is the correct answer. 
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	 25.	 Option (1) is correct.
	 	We know that Lotus is a category of Flower in the same 

way Rial is category of Currency.
	 	Hence, Rial: Currency is the correct answer.
	 26.	 Option (4) is correct.
	 The pattern followed here is,
	 First number
	 Second number = first number + 5
	 Third number = first number + 20
	 Like
	 73
	 	 73 + 5 = 78
	 	 73 + 20 = 93 → (73, 78, 93)
	 Similarly,
	 	Option 1 → (67, 72, 82)
	 67
	 	 67 + 5 = 72 = 72
	 	 67 + 20 = 87 ≠ 82
	 Option 2 → (23, 33, 38)
	 23
	 	 23 + 5 = 28 ≠ 33
	 	 23 + 20 = 53 ≠ 38
	 Option 3 → (29, 34, 39)
	 29
	 	 29 + 5 = 34 = 34
	 	 29 + 20 = 49 ≠ 39
	 Option 4 → (145, 150, 165)
	 145
	 	 145 + 5 = 150 = 150
	 	 145 + 20 = 165 = 165
	 27.	 Option (4) is correct.

	 	We know that when we fold the cube then the opposite 

of  will be  and the opposite of  is  and 

therefore the opposite of  is .

	 28.	 Option (3) is correct.
	 The pattern followed here is, 

F D M Q V J N K H

Q M D F E H K N J

	 E is on 5th place, 5th place from last is V 
	 Similarly, 

H E L I O P T E R

I  L E H L R E T P

	 O is on 15th place, 15th place from last is 1. 
	 Hence, “ILEHLRETP” is the correct answer.
	 29.	 Option (4) is correct.
	 	We know that Greedy is an antonym of Generous; in the 

same way, Vindictive is the antonym of Merciful.
	 Hence, Merciful is the correct answer.
	 30.	 Option (4) is correct.
	 The pattern is:
	 Option 1: R	 +3	 U	 +3	 X	 +3	 A
	 Option 2: M	 +3	 P	 +3	 S	 +3	 V
	 Option 3: B	 +3	 E	 +3	 H	 +3	 K
	 Option 4: G	 +3	 J	 +3	 M	 +4	 Q
	 Hence, GJMQ is the correct answer.

	 31.	 Option (4) is correct.

Delhites Singaporeans

Americans

	 	From the above Venn diagram, neither conclusion I nor 
conclusion II follows.

	 32.	 Option (2) is correct.
	 Using option 2 
	 Given 17 × 15 + 3 – 11 ÷ 3 = 45 on interchange we get,
	 17 + 11 × 3 – 15 ÷ 3 = 17 + 33 – 5 = 50 – 5 = 45
	 Therefore, LHS = RHS.
	 33.	 Option (3) is correct.
	 	Using option 3, by interchanging 5 and 9 we get,
	 9 × 2 + 8 ÷ 2 – 1 = 5 – 6 ÷ 3 + 6 × 3
	 Þ	18 + 4 – 1 = 5 – 2 + 18 Þ 21 = 21
	 Therefore, LHS = RHS.
	 34.	 Option (1) is correct.
	 The pattern is 
	 Option 1: XHEP opposite representation is CSVK 

written on right side to the left side that forms KVSC. 
	 Option 2: ARNI opposite representation is ZIMR written 

on right side to the left side.
	 Option 3: OLEV opposite representation is LOVE 

written on right side to the left side that forms EVOL.
	 Option 4: TSRA opposite representation is GHIZ written 

on right side to the left side that forms ZIHG. 

	 35.	 Option (4) is correct.
	 	Ballet is a dance form which is taught by a choreographer, 

so Ballet: Choreographer.
	 Similarly, Clothes that we wear are stitched by tailor.
	 Hence, Tailor is the correct answer.

	 36.	 Option (4) is correct.
	 	Except 64 - 32 all others are not divisible by the numbers 

as the 2nd number cannot divide the 1st number.
	 Hence, 64 - 32 is the correct Answer.

	 37.	 Option (2) is correct.
	 	The pattern is that the digit sum is the same in all the numbers.
	 Option 1: 3 + 2 + 1 = 6, 2 + 1 + 3 = 6, 1 + 2 + 3 = 6.
	 Option 2: 4 + 3 + 2 = 9, 3 + 2 + 4 = 9, 2 + 3 + 1  

= 6 (Not same ).
	 Option 3: 7 + 9 + 8 = 24, 8 + 9 + 7 = 24, 7 + 9 + 8 = 24.
	 Option 4: 5 + 6 + 4 = 15, 6 + 4 + 5 = 15, 4 + 5 + 6 = 15

	 38.	 Option (4) is correct.
	 The pattern is
	 	 F	 +3	 I	 +3	 L	 +3	 O	 +3	 R
	 	 T	 -3	 Q	 -3	 N	 -3	 K	 -3	 H
	 	 B	 +3	 E	 +3	 H	 +3	 K	 +3	 N
	 Hence, RHN is the correct answer.
	 39.	 Option (2) is correct.
	 	The pattern is that in the first square, keep everything 

as it is but change the middle element which is a bracket 
and in the next square, keep the middle element a 
bracket as it is and rotate the * and rectangle by 180°. 
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	 40.	 Option (1) is correct.
	 The pattern is 
	 	 40	 50	 61	 73	 86	 (100) ?	 115
	 		  10	 11	 12	 13	 14	 15
	 Hence, 100 is the correct answer. 
	 41.	 Option (3) is correct.
	 	The square is rotated by 180° and forms the another square.

	 42.	 Option (4) is correct.
	 	When we place the mirror at the right side, then all 

the elements which are positioned at the right side will 
appear on the left side and the objects which appear 
on the right side will appear on the left side and the 
position of each element will also change from right to 
left side. E will be shifted from the right end to the left 
end and it will form ∃ or we can say every element will 
rotate 180°.

ALPha797charLIE
	 43.	 Option (1) is correct.
	 	The pattern is that the sum of the place value of 

alphabets × 3.
	 D = 4, then 4 × 3 = 12, and AGE = 1 + 7 + 5 = 13 × 3 = 39.
	 Now, JADE = 10 + 1 + 4 + 5 = 20 and 20 × 3 = 60.
	 Hence, 60 is the correct answer.
	 44.	 Option (2) is correct.
	 	The figure shows how it is embedded in the figure.

	 45.	 Option (4) is correct.
	 	The pattern is 3 × 1 = 3
	 7 × 5 = 35
	 5 × 4 = 20
	 Hence, 20 is the correct answer.
	 46.	 Option (1) is correct.
	 	The pattern is 9 × 11 + 3 = 102
	 11 × 13 + 3 = 146
	 13 × 15 + 3 = 198
	 	Hence, 198 is the correct answer.
	 47.	 Option (1) is correct.
	 	Except 117, all others are prime numbers.
	 	Hence, 117 is the correct answer. 
	 48.	 Option (2) is correct.
	 	We have to remove those which are inside the circles but 

are in triangle as well in squares and rectangles which is 
only 5.

1 1 1

1 1

2078

7

2

4

	 	Hence, 5 is the correct answer.

	 49.	 Option (3) is correct.
	 13 – 3 + 15 × 3 ÷ 5
	 13 × 3 – 15 ÷ 3 + 5 = 39 – 5 + 5 = 39
	 	Hence, 39 is the correct answer. 
	 50.	 Option (3) is correct.
	 	The pattern is that this is double series.

+1 +1

K J L I ? M H

–1 –1
	 	Hence, M is the correct answer.
	 51.	 Option (2) is correct.
	 	Federalism’s institutional mechanism accommodates 

two polities. The first is on a national or central level, 
and the second is on a regional or provincial level. Both 
are self-sufficient in their respective domains. Each level 
has distinct responsibilities and powers, as well as its 
government system.

	 52.	 Option (2) is correct.
	 	The biosphere is the narrow zone of contact between 

the lithosphere, hydrosphere, and atmosphere where 
natural vegetation and wildlife exist. The troposphere is 
the earth’s lowest layer of atmosphere. The geosphere 
is the portion of the earth that is made up of landforms, 
rocks, minerals, and so on. The exosphere is the 
atmosphere’s outermost layer.

	 53.	 Option (4) is correct.
	 	In 1817, David Ricardo proposed an international 

trade theory based on comparative advantage and 
specialization. His book “On the Principles of Political 
Economy and Taxation” is credited with establishing the 
law of comparative advantage. The ability of an economy 
to produce services and goods at a lower opportunity cost 
than trade partners is referred to as comparative advantage. 
David Ricardo was an economist from England.

	 54.	 Option (3) is correct.
	 	After Alivardi Khan died in 1756, Siraj ud-Daulah took 

over as Nawab of Bengal. He was Bengal’s last self-
governing Nawab. Murshid Quli Khan was Bengal’s 
first Nawab. Mir Jafar was the first Nawab of Bengal 
under British control. From 1740 to 1756, Alivardi Khan 
was the Nawab of Bengal.

	 55.	 Option (2) is correct.
	 	Tungsten has the highest melting point in pure form, 

which is 3422 °C or 6192 °F. It also has the highest tensile 
strength and the lowest vapor pressure of any material. 
Helium is the chemical element with the lowest melting 
point, while carbon has the highest. The melting point 
of a pure substance is the temperature at which its liquid 
and solid forms can coexist in equilibrium.

	 56.	 Option (1) is correct.
	 	The Sarkaria Commission was established by the central 

government in 1983 to investigate issues concerning 
Centre-State relations. The government appointed the 
Kothari Commission in 1964 to investigate all aspects 
of India’s education sector. The National Democratic 
Alliance appointed the Nanavati Commission in 2000 
to investigate the 1984 Anti-Sikh riots. Under PM 
Morarji Desai’s leadership, the Mandal Commission was 
established in 1979 to investigate the representation and 
condition of educationally or socially backward castes. 

5
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	 57.	 Option (4) is correct.
	 	On December 12, 1911, British monarch King George 

V-and his consort Queen Mary assumed the throne 
of India at the Delhi Durbar. The King and Queen, 
resplendent in coronation robes adorned with 
thousands of diamonds and precious gems, appeared in 
the Jharokha of the red fort to greet the 5 lakh Indians 
who had gathered to greet the sovereign couple. He 
announced the relocation of the imperial capital from 
Calcutta (now Kolkata) to Delhi at this Durbar.

	 58.	 Option (2) is correct.
	 	The major tributaries of the Dibang are the Sisar, Mathun, 

Tangon, Dri, Ithun, and Emra. During its course, the 
Dibang is joined by several tributaries, including the 
Airi, Ilu, Imu, Ahi, Ashu, Epipani, and Eze (Deopani) 
rivers. The Dibang River flows through the Dibang 
Valley district of Arunachal Pradesh, near the Keya pass 
on the Indo-Chinese border.

	 59.	 Option (3) is correct.
	 	The ‘National Food for Work Programme’ was 

established in India in 2004. On November 14, 2004, 
it was launched in 150 backward districts of India. Its 
goal was to create supplemental wage employment. 
This program was subsumed with the National Rural 
Employment Guarantee Act (NREGA) in February 2006. 
It was a government-sponsored scheme.

	 60.	 Option (1) is correct.
	 	Leshalaptu is a Naga folk dance. Aaluyattu, Agurshikukula, 

Butterfly Dance, Changai Dance, Khamba Lim, Kuki 
Dance, Mayur Dance, Modse, Monyoasho, Sadal Kekai, 
Seecha and Kukui Kucho, Shankai and Moyashai, Rengma, 
and other folk dances are also popular in the state.

	 61.	 Option (4) is correct.
	 	The lithosphere is the Earth’s outer layer, which is made 

up of plates that fit together like a jigsaw puzzle. The 
mesosphere is a layer of the earth’s atmosphere that 
exists between the thermosphere and the stratosphere. 
The asthenosphere is the earth’s inner layer, where the 
crust melts into the mantle. The biosphere is the narrow 
zone of contact between the lithosphere, hydrosphere, and 
atmosphere where natural vegetation and wildlife exist. 

	 62.	 Option (3) is correct.
	 	Sea water can be considered a solution. It’s made up of 

2.5% salts and 96.5% water. Carbon exists in solid form 
as a diamond. Salt is a mineral that consists of sodium 
chloride. Coal is a primary source of fossil fuels.

	 63.	 Option (1) is correct.
	 	Caecum is a pouch-like structure in the digestive system 

located at the junction of the small and large intestines. 
The cecum is enlarged in rabbits and contains bacteria 
that aid in the digestion of plant matter and nutrient 
absorption. The anus is the opening through which the 
gastrointestinal tract exits the body. The duodenum is 
the first part of the small intestine, located between the 
stomach and the jejunum, the middle part of the small 
intestine.

	 64.	 Option (4) is correct.
	 	The subject of ‘livestock and animal husbandry’ is 

included in the State List of the Indian Constitution. 
The Indian Constitution contains three lists, which are 
covered by the seventh schedule: the state, concurrent, 
and union lists. The State list includes subjects on which 
the state legislature may pass legislation. The Union list 
includes subjects such as defence, railways, and so on, 
for which the Parliament could pass legislation. The 
Concurrent list includes subjects that delegate authority 
to both the state and federal governments. 

	 65.	 Option (4) is correct.
	 	Ahmedabad, Gujarat, is on the list of UNESCO World 

Heritage Sites. During the 41st session of the World 

Heritage Committee in 2017, it was added to the list. 
Sultan Ahmad Shah founded Ahmedabad in the 15th 
century. In January 2016, the 606 year-old walled city 
was chosen over Delhi and Mumbai. Ahmedabad 
earned it because the city has done incredible work in 
the last 20 years to preserve its living heritage. On July 6, 
2019, Jaipur was officially added to the list of UNESCO 
World Heritage Sites. The decision was made by the 
UNESCO World Heritage Committee at its 43rd session. 
The city is well-known for its grid-plan architecture and 
buildings with pink facades. Bhattacharya, Vidyadhar

	 66.	 Option (2) is correct.
	 	In 2019, GS Lakshmi was appointed as the first female 

to the ICC International Panel of Match Referees. She 
will now officiate at international games. Lakshmi has 
presided over three women’s T20Is and three women’s 
ODIs. Claire Polosak became the first woman umpire to 
stand in a men’s One-Day International (ODI) in 2019.

	 67.	 Option (2) is correct.
	 	The festival of ancestor worship, ‘Me-Dam-Me-Phi,’ 

is celebrated in the state of Assam. It is an important 
religious festival in Assam. People in Assam worship their 
ancestors to please them and ensure that their ancestors 
always keep an eye on them. ‘Me’ denotes offerings, 
‘Dam’ denotes ancestors, and ‘Phi’ denotes gods.

	 68.	 Option (2) is correct.
	 	Pyrite is also known as ‘fool’s gold’. Because of its 

gold color, high specific gravity, and metallic lustre, it 
is frequently misidentified as gold. Pyrite’s chemical 
formula is FeS2. It’s a type of sulfide mineral. The most 
common sulfide mineral is pyrite. Pyrite’s metallic lustre 
and pale brass-yellow hue give it a passing resemblance 
to gold, earning it the well-known nickname fool’s gold.

	 69.	 Option (2) is correct.
	 	The 2019 Nobel Memorial Prize in Economics was 

awarded to Abhijit Vinayak Banerjee. In October 
2019, he was honored alongside his wife Esther Duflo 
and Michael Kremer. They were recognized for their 
innovative approach to alleviating global poverty.

	 70.	 Option (4) is correct.
	 	According to the question, India had seven nuclear 

power plants as of October 2019.
	 	Nuclear power is India’s fifth-largest source of 

electricity, trailing thermal, hydroelectric, and 
renewable sources. India currently operates 
22 nuclear power reactors in 7 states, with a total 
installed capacity of 6780 Mega Watt electric (MWe).

	 	There are 18 Pressurised Heavy Water Reactors 
(PHWRs) and 4 Light Water Reactors (LWRs) (LWRs). 
Nuclear Power Corporation of India Limited (NPCIL), 
headquartered in Mumbai, is a government-owned 
Indian corporation in charge of nuclear energy 
generation. NPCIL is managed by the Government of 
India’s Department of Atomic Energy.

	 71.	 Option (2) is correct.
	 	In the case of normal goods, there is a positive  

relationship between income and demand. They have 
a direct relationship with each other. When income 
rises, demand also rises with it, and when income falls, 
demand falls with it. Demand for normal goods increases 
due to an increase in consumer income. Geffen/Giffen 
Goods is an exception.

	 72.	 Option (4) is correct.
	 	Cementum protects the tooth’s root. It is also necessary 

for the maintenance of periodontal and dental 
attachment. Enamel is the tooth’s thin outer covering 
that protects the crown. Dentin is a yellowish tissue that 
makes up the majority of all teeth. 
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	 73.	 Option (2) is correct.
	 	According to Henry’s law, ‘soft drinks and soda bottles’ 

are sealed under high pressure to increase the solubility 
of “CO2”. The law states that the amount of a given gas 
that dissolves in a given type of liquid at a constant 
temperature is directly proportional to the partial 
pressure of that gas in equilibrium with that liquid. 
According to Raoult’s law, the partial vapor pressure of a 
solvent in a solution is equal to the pure solvent’s vapor 
pressure multiplied by its mole fraction in the solution. 
According to Dalton’s law, the total pressure exerted by 
a gas mixture is equal to the sum of the partial pressures 
of the gases in the mixture. Ohm’s law states that the 
current flows through a conductor.

	 74.	 Option (3) is correct.
	 	Bengal’s Governor-General Warren Hastings established 

two courts in each district in 1772: a criminal court 
(Faujdari Adalat) and a civil court (Diwani Adalat). The 
Diwani Adalat was formed to settle civil disputes in the 
district. In this case, Muslim law applied to Muslims 
and Hindu law applied to Hindus. From 1774 to 1785, 
Warren Hastings was Governor-General. The Calcutta 
Supreme Court was established by the Regulating Act of 
1773.

	 75.	 Option (2) is correct.
	 	As of October 2019, the maximum loan amount 

granted by a scheduled commercial bank under the 
Credit Guarantee Fund Scheme for Micro and Small 
Enterprises is ` 200 lakhs (CGTMSE). The CGTMSE is 
a government initiative led by the Ministry of Medium, 
Small, and Micro Enterprises (MSME) and the Small 
Industries Development Bank of India (SIDBI). Its goal 
is to provide credit guarantees to financial institutions 
that make MSMEs loans.

	 76.	 Option (4) is correct.
	 	In April 2019, Saurav Ghosal became the first Indian 

male squash player to break into the top ten of the PSA 
world rankings. Dipika Pallikal and Joshna Chinappa, 
both from India, had previously ranked in the top ten. 
The world champion, Ali Farag of Egypt, was at the top 
of the rankings. Joshna was the highest-ranked Indian 
in the women’s rankings, coming in 15th place. 

	 77.	 Option (3) is correct.
	 	The eccrine glands’ primary function is to produce 

sweat. These glands help to regulate body temperature 
and maintain homeostasis. These glands are located 
on the skin, primarily on the soles and palms. Because 
endocrine glands lack ducts for transportation, they mix 
with the blood in the body. The sympathetic nervous 
system regulates body temperature through the eccrine 
sweat gland. When the internal temperature rises, the 
eccrine glands secrete water to the skin’s surface, where 
it evaporates to remove heat.

	 78.	 Option (3) is correct.
	 	Bajrang Lal Takhar became the first Indian rower to win 

a gold medal at the Asian Games in 2010. Wang Ming-
Hui of Taipei took silver, and Haeider Hamarasheid of 
Iraq took bronze. Bajrang Lal Takhar was also the first 
Indian to win a silver medal at the 2006 Asian Games 
in Doha. In 2009, he also won a gold medal at the Asian 
Championships in Korea. 

	 79.	 Option (3) is correct.
	 	Weathering is the breaking up and decay of exposed 

rocks caused by temperature changes, frost action, 
plants, animals, and human activity. Smelting is a type 
of extractive metallurgy in which metal is extracted from 
its ore. Erosion is the process by which the Earth’s upper 
surface (nutritious layer) wears away. Deforestation is 
the permanent cutting and removal of trees and forests.

	 80.	 Option (1) is correct.
	 	In 1498, Vasco da Gama discovered a sea route to India. 

In May 1498, he was the first European to sail around 
Africa to India. Vasco da Gama was a Portuguese explorer 
and navigator. Megasthenes was a Greek diplomat and 
historian who lived in ancient Greece. Thomas Coryat 
was a traveler and writer from England. Marco Polo was 
an Italian merchant and explorer. 

	 81.	 Option (2) is correct.
	 	Angiosperms are distinguished by their concealed 

seeds. Angiosperms are the most numerous group of 
plants on the planet. They can grow as herbs, shrubs, 
or trees and can grow in a variety of habitats. They 
have carpels that contain seeds that mature into fruits. 
Flowering plants, or angiosperms, are the most complex 
and evolved forms of plant life. Angiosperms are also 
the most common type of plant life on Earth today, 
with over 270,000 different flowering plant species (in 
contrast, there are only approximately 5,500 species of 
mammals on Earth). Over 80% of all plants on Earth are 
angiosperms (the remainder are a mix of gymnosperms, 
bryophytes, and seedless vascular plants (ferns)).

	 	The flowers are the defining feature of all angiosperms; 
all angiosperms produce seeds using this specialized 
reproductive structure. All angiosperm seeds are 
enclosed in a fruit or an ovary. Gymnosperms, which are 
non-flowering plants with “naked seeds,” i.e. seeds that 
are not enclosed, are the only other type of plant that 
can produce seeds.

	 82.	 Option (4) is correct.
	 	Former Indian cricketer and Captain Sourav Ganguly 

wrote the English autobiography A Century is Not 
Enough: My Roller-coaster Ride to Success (2018). 
Juggernaut published the novel for the first time on 
February 24, 2018. In this book, Ganguly discussed 
his cricketing career in depth. He has spoken about 
various stages of his cricket career, including several 
international tours, World Cups, and the IPL. Important 
Considerations Sourav Ganguly is an Indian cricket 
administrator, commentator, and former national team 
captain. He is the 39th and current President of the 
Board of Control for Cricket in India. During his playing 
career, Ganguly established himself as one of the world’s 
leading batsmen as well as one of the most influential 
captains of the Indian national cricket team. While 
batting, he was especially prolific through the off side, 
earning him the moniker “God of the Off Side” for his 
elegant square of the wicket stroke play and through 
the covers. He was elected President of the BCCI and 
President of the Wisden India Editorial Board in 2019.

	 83.	 Option (4) is correct.
	 	The first motion to remove a Supreme Court Justice was 

signed by 108 members of Parliament in 1991. It was 
brought against Justice V. Ramaswami, who was accused 
of wrongdoing during his time as Chief Justice of the 
Haryana and Punjab High Courts. From November 1987 
to October 1989, he was Chief Justice. On 1 February 
1991, the Supreme Court Bar Association filed the first 
motion to remove a Chief Justice of a High Court against 
V. Ramaswami, Chief Justice of the Punjab and Haryana 
High Court. In March 1991, the BJP and the Left parties 
petitioned the Indian Parliament to remove him from 
office. On May 10, 1993, the Lok Sabha debated and 
voted on the removal motion. The motion failed due to 
abstentions from the ruling Congress and its allies.

	 84.	 Option (3) is correct.
	 	The Free Voice: On Democracy, Culture, and the Nation 

is written by Ravish Kumar. He recently received 
the Ramon Magsaysay Award (2019). Books Authors 
Terrorism combat Mr. Arnab Goswami This Unquiet 
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Land: Fault Line Stories from India Barkha Dutt’s 
Democracy, Culture, and the Nation: The Free Voice Mr. 
Ravish Kumar

	 85.	 Option (2) is correct.
	 	India was represented by four sites in the 2019 UNESCO 

Asia-Pacific Awards for Cultural Heritage Conservation. The 
winners were announced on October 14, 2019, in Malaysia. 
Three of these four sites are in Mumbai, Maharashtra. 
Flora Fountain, Keneseth Eliyahoo Synagogue, and Gloria 
Church are among them. The fourth location is the Vikram 
Sarabhai Library at IIM Ahmedabad.

	 86.	 Option (2) is correct.
	 	CITES is an international treaty between governments 

that aims to ensure that international trade in wild 
animal and plant specimens does not endanger their 
survival. The acronym CITES is an abbreviation for 
the Convention on International Trade in Endangered 
Species of Wild Fauna and Flora. OPEC stands for the 
Organization of Petroleum Exporting Countries. BRICS 
stands for Brazil, Russia, India, China, and South Africa. 
It is a collaboration of these five national economies. 
GATS stands for General Agreement on Trade in Services.

	 87.	 Option (4) is correct.
	 	Article 144 of the Constitution of India states that ‘all 

authorities, civil and judicial, in the territory of India 
shall act in aid of the Supreme Court’. The powers of the 
State Governor are addressed in Article 157 of the Indian 
Constitution. Article 137 of the Indian Constitution 
addresses the Supreme Court’s Review Jurisdiction. 
Article 121 of the Indian Constitution addresses the 
Restriction on Parliamentary Debate.

	 88.	 Option (1) is correct.
	 	Coal is also known as ‘buried sunshine’ because it is 

evolved from plant remains that existed around 400 
million years ago. The majority of the coal is thought 
to have formed around 300 million years ago when the 
earth was covered in steamy swamps. Coal is a type of 
primary fossil fuel that is black. As these greens died, 
they fell to the ground, forming peat. When the peat 
is physically and chemically altered, the coalification 
process (transformation into coal) begins

	 89.	 Option (3) is correct.
	 	The spring festival ‘Ali-Aye-Ligang’ is associated with the 

state of Assam. The Mishing Tribe celebrates the festival 
every year between February and March, or on the first 
Wednesday of the month of ‘Ginmur Polo’. Ali denotes 
the root, Aye denotes the fruit, and Ligang denotes the 
act of sowing. A spring agricultural festival celebrated by 
the Missing or Mishing tribal people of Assam and other 
Northeast Indian states on the occasion of the start of 
Ahu paddy cultivation.

	 90.	 Option (3) is correct.
	 	Sim Bhullar became the first player of Indian origin to 

play in an NBA game in 2015. He was a member of the 
Sacramento Kings. He was also the first Indian to score 
in an NBA game. Against the Utah Jazz, he had two 
points. Satnam Singh was the first Indian player chosen 
in the NBA Draft. NBA is an abbreviation for National 
Basketball Association. It is a men’s basketball league in 
North America.

	 91.	 Option (3) is correct.
	 	When we are cold or scared, the arrector pili in our 

skin contracts, causing the hairs on our skin to stand 
up straight (goosebumps). The epidermis is the outer 
or upper layer of the skin’s cells. Collagen is the most 
abundant protein in the human body. Tendons, skin, 
muscles, and bones contain it. Elastin is an ECM protein 
(extracellular matrix) that gives the body’s organs and 
tissues elasticity and resilience. 

	 92.	 Option (2) is correct.
	 	The Panchayati Raj structure is divided into three tiers. 

Gram Panchayat, Zila Parishad, and Panchayat Samiti 
are the three tiers. Gram Panchayat governs villages, 
Panchayat Samiti governs blocks, and Zila Parishad 
governs districts. A Gram Panchayat is responsible for 
one or more villages. In most cases, Panchayat Samitis 
are indirectly elected bodies. A district is under the 
jurisdiction of the Zila Parishad. At the district level, 
the Zila Parishad is led by the District Collector. The 
institutions of Panchayati Raj were constitutionalized by 
the 73rd Amendment Act of 1992. Rajasthan was the first 
state in the country to ratify and establish the Panchayati 
Raj institution.

	 93.	 Option (1) is correct.
	 	Edwin Lutyens and Herbert Baker are two architects 

who are credited with designing New Delhi. Both Edwin 
Lutyens and Herbert Baker were English architects and 
close friends. Viceroy Lord Irwin inaugurated New 
Delhi after it was completed in 1931. Both of these 
architects also designed the Rashtrapati Bhawan. Le 
Corbusier, a Swiss-born architect, designed Chandigarh 
with the help of Maxwell Fry and Jane Drew. The reign 
of Kalchuri kings is mentioned in old inscriptions from 
Ratanpur, Rajim, and Khallari. It is believed that King 
Ramachandra of this dynasty founded Raipur and later 
made it the capital of his kingdom. Emperor Akbar 
named the city “ILLAHABAS,” which later became 
ALLAHABAD, which means “The City of Light.”

	 94.	 Option (4) is correct.
	 	‘Ferns and Fern allies’ are classified as Pteridophyta 

in the plant kingdom. Pteridophytes are plants that 
reproduce via spores rather than seeds. Mosses are 
examples of bryophytes, which are nonvascular seedless 
plants. Thallophytes are organisms that are not mobile, 
such as fungi and algae. Gymnosperms are flowerless 
plants that produce seeds and cones instead of flowers.

	 95.	 Option (4) is correct.
	 	Following the Tipu Sultan’s defeat at the Battle of 

Seringapatam, the Wodeyars ruled Mysore as part of 
a subsidiary alliance with the British. From 1399 to 
1947, Mysore was ruled by the Wodeyar dynasty. It 
is thought to be the only Indian royal family to have 
ruled the kingdom for more than 500 years. The Battle 
of Seringapatam took place between April and May of 
1799. Tipu Sultan was assassinated during the war.

	 96.	 Option (3) is correct.
	 	The Jnanpith Award, one of India’s highest literary 

honors, was established in 1961. The Sahu Jain Family, 
the publisher of the Times of India, founded it. The first 
recipient of the award was Malayalam writer G. Sankara 
Kurup, who received it in 1965. Akkitham, a Malayalam 
poet, has been selected for the 2019 award. It is presented 
annually by the Bharatiya Jnanpith to an author for their 
“outstanding contribution towards literature”.

	 97.	 Option (1) is correct.
	 The Treaty of Salbai was signed on 17 May 1782, by 

representatives of the Maratha Empire and the British 
East India Company after long negotiations. Salbai is 
located in Madhya Pradesh’s Gwalior District. After long 
negotiations to settle the outcome of the First Anglo-
Maratha War, representatives of the Maratha Empire 
and the British East India Company signed the Treaty 
of Salbai on May 17, 1782, between Warren Hastings and 
Mahadaji Scindia. Further Information The first Anglo-
Maratha war was won by the Marathas. The first Anglo-
Maratha war ended with the Treaty of Salbai. The Treaty 
of Salbai produced the following results: It put an end 
to the Anglo-Maratha War. The English and Marathas 
restored the status quo. The company retained control 
of Salsette and Broach.
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	 98.	 Option (4) is correct.
	 	A/an aurora borealis is a Phys phenomenon that occurs 

when a spectacular display of colors is seen in the sky 
over Polar Regions such as Alaska and Northern Canada. 
It is also referred to as the northern lights. The active 
galactic nucleus is a small region in the center of a galaxy 
that emits a large amount of energy as x-ray, radio, or 
optical radiation. A star’s luminosity is the amount 
of energy it emits in all directions per second. Aurora 
forms when the constituent particles of the solar wind 
are trapped by the Earth’s Magnetic Field and enter the 
Earth’s upper atmosphere. Aurora Borealis occur when 
they form in the Northern Hemisphere. When they 
form in the Southern Hemisphere, they are known as 
Aurora Australis.

	 99.	 Option (4) is correct.
	 India is ranked 79th in the Global Economic Freedom 

Index 2019. The Centre for Civil Society published the 
report. It rose from 96th to 79th place in 2018. Hong Kong 
and Singapore topped  the index. The top ten included 
the United States, the United Kingdom, Canada, 
Australia, and Switzerland. Further Information New 
Delhi, India – According to the latest report, India has 
dropped 26 spots to 105th place on the Global Economic 
Freedom Index 2020. In last year’s rankings, the country 
was ranked 79th.

100.	 Option (2) is correct.
	 	The ‘Hemis Tsechu’ festival commemorates Guru 

Padmasambhava’s birth anniversary. Ladakh celebrates 
a monastic festival. It takes place in the courtyard of 
Hemis monastery on the 10th and 11th days of the 5th 
month of the Tibetan calendar. Guru Padmasambhava 
is known as Guru Rinpoche in Tibet, which means 
‘precious master’.Hemis Festival is held annually in 
Ladakh on the 10th day of the Tibetan lunar month of 
Tse-Chu.

101.	 Option (1) is correct.

	 A = P
r n

1
100







	 A : Amount
	 P : Principal
	 	r : rate of compound interest
	 	n : number of time periods
	 Here,	 A = `44,100,   P = `40,000
	 	 n = 2 years and r = ?

	 \	 44100 = 40000 1
100

2







r

	 Þ	 1
100

+ r
 = 

441
400

21
20

=

	 Þ	
r

100
 = 

21
20

1
1
20

   Þ r = 
100
20

 = 5

	 Therefore Rate of compound interest, r = 5%
102.	 Option (2) is correct.
	 	Given that the height of the cone, h = 35 cm
	 and C.S.A = 4 × base area
		 Let radius of the base of the cone = r cm

	 	 l = h r r2 2 2 235   	 ...(i)
	 	Curved surface area of cone = prl

		  = r h r2 2 
		 Area of base of cone = pr2

		 According to question,

		  r h r2 2   = 4pr2

	 Þ	 352 2+ r  = 4r	 [using eqn. (i)]
	 Þ	 352 + r2 = 16r2	 [on squaring both sides]
	 Þ	 35 × 35 = 15r2

	 Þ	 r2 = 
7 35

3
×

	 ...(ii)

		 Volume of the cone = 
1
3

pr2h

		  = 
1
3

22
7

7 35
3

35× × × ×

		  = 
22 35 35

9
× ×

 = 2994.4 cm3

		  = 2994 4
10 103 3

.
×

m3 = 2.994 × 10-3 m3

103.	 Option (1) is correct.

	 We know, H.C.F of 
a
b

, 
c
d

 and 
e
f

 = 
H C F a c e
L C M b d f

. . , ,
. . , ,

 
 

	 H.C.F of 4, 6 and 8 = 2
	 	 L.C.M of 5, 8, 25 = 2 × 2 × 2 × 5 × 5 = 200

	

2 5 8 25
2 5 4 25
2 5 2 25
5 5 1 25
5 1 1 5

1 1 1

, ,
, ,
, ,
, ,
, ,
, ,

	 HCF of 
4
5

6
8

8
25

, ,



 = 

2
200

1
100

=

104.	 Option (2) is correct.
	 	From the histogram, 
	 	Number of players scored more than
	 30.5 on average = 12 + 16 + 4 + 2 = 34
105.	 Option (1) is correct.

	  Average = Sum of observations
Number of observations

		 Let number of students = x
		 and average (initial) = y
	 	The sum of marks  = xy
		 Correct sum of marks = xy –93 + 63
		  = xy – 30
		 According to question, 

		  y
xy

x
− − 30

 = 0.5 Þ y y
x

  30
 = 0.5

	 Þ	
30
x  = 0.5 Þ 

30
0 5.

 = x Þ x = 60

106.	 Option (1) is correct.
	 	We know that, altitude of equilateral triangle 

	 	 = 3
2

a

	 	 [Where, a is side of equilateral triangle]
		 Side of equilateral triangle, a = 12 cm

	 So, its altitude = 
3

2
12×  = 6 3  cm
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107.	 Option (2) is correct.
	 According to given, we draw a figure

O

BMA

	 	 AB = 10 cm, OM ⊥ AB

	 Þ	 AM = MB = 
10
2

 = 5 cm

	 [Perpendicular from centre bisect the chord]
		 Let radius of smaller circle, OM = r cm
	 In DOAM	 OA = OM AM2 2+

	 [By pythogoras theorem]

	 Þ	 OA = r2 25+ 	 ...(i)
		  OA is a radius of bigger circle (R = OA)
		 Area of annular portion = pR2 – pr2

		  = p (R2 – r2) = p (OA2 – r2)
		  = p [r2 + 52 – r2]	 [using eqn ..(i)]
		  = 25 p cm2

108.	 Option (4) is correct.

	 	
101 99 101 99

101 99

101 99
101 99
101 99

2
101 199

      


 





	 	
201 199 201 199

201 199

201 199
201 199
201 199

2
201 199

      


 





	 	
301 299 301 299

301 299

301 299
301 299
301 299

2
301 299

      


 





	 	
401 399 401 399

401 399

401 399
401 399
401 399

2
401 399

      


 





	 � [ (a – b) (a + b) = a2 – b2]
		 If a numerator is equal, then fraction having largest 

denominator is lowest fraction.
	 Þ	 401 399−  is the lowest among four.

109.	 Option (1) is correct.
	 	Use “BODMAS” to solve the given expression.

		 7
1
3

2
1
2

3
5

3
8

1
7

1
3
4

5
24

   




of 1

	 = 
22
3

5
2

8
5

3
8

1
7

7
4

5
24

   




of 

	 = 
22
3

4
3
8

1
4

5
24

  




  = 22

3
1
4

3 2
8

5
24

  






	 = 11
6

5
8

5
24

44 15 5
24

      = 24
24

 = 1

110.	 Option (1) is correct.

	 Average = 
sum of observations

number of observations
		 Sum of percentage of marks in English
	 = 70 + 60 + 60 + 85 + 90 = 365

		 Required average = 
365
5

 = 73

		 The average of marks in English of the five districts = 73%
111.	 Option (3) is correct.
	 	Let the height of the pole is h
		 As per the given data, we can form figure

D

h

P
C

a b
b

	 Here,	 CD = h (height of pole)
	 	 PQ = b (assume)
	 In DDCP

		  tan a = 
DC
CP

		  CP = 
h

tanα
	 ...(i)

	 In DDCQ

		  tan b = 
DC
CQ

  Þ tan b = 
h

CP PQ+

	 Þ	 tan b = 
h

h
b

tan


	 [using eqn ...(i)]

	 Þ 
tan
tan

tan



  h b  = h

	 Þ tan
tan

tan



h h b   = O

	 Þ h b1 




 tan

tan
tan






	 Þ h
b

1 








 cot

cot cot

 

	


1
tan

cot








	 Þ h
bcot cot

cot cot
 

 








   Þ 

b
cot cot 

112.	 Option (2) is correct.
	 	Total number of cars sold in 2018 = 5000
	 	Total percentage of cars in showrooms B & D = (29 + 9)% 

= 31%

	 	\Required number of cars = 
31

100
5000 1550 

113.	 Option (1) is correct.
	 Total numbers letters in “PHOTOGRAPH” =10 
	 If “F” is used in place of “PH” then new word is 

“FOTOGRAP”.
	 Total numbers of letters in new word = 8

	 \ Required percentage reduction = 
10 8

10
100

 

			   = 
200
10

20= %
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114.	 Option (4) is correct.
	 4x3y – 6x2y2 + 4xy3 – y4 
	 = 2xy3 – 2x2y2 – y4 + 4x3y + 2xy3 – 4x2y2

	 = –y2 (–2xy + 2x2 + y2 ) + 2xy (2x2 + y2 – 2xy)
	 = (2xy – y2) (2x2 + y2 – 2xy)
	 = (x2 – x2 – y2 + 2xy) (x2 + x2 + y2 – 2xy)
	 = [x2 – (x – y)2] [x2 + (x – y)2]
	 = x4 – (x – y)4

	 [using : (a – b) (a + b) = a2 – b2]
115.	 Option (2) is correct.
	 	Work done by 1 boy of school-A = A
	 	Work done by 1 boy of school-B = B
	 	Work done by 1 boy of school-C = C
	 \	 Work done by first group in 5 days = (4A + 6B) × 5
	 Work done by second group in 4 days = (5A + 10C) × 4
	 Work done by third group in 10 days = (3B + 4C) × 10
		 According to question 
	 5 (4A + 6B) = 4 (5A + 10C) = 10(3B + 4C)
	 Þ	 5(4A + 6B) = 10 (3B + 4C)
	 Þ	 4A + 6B = 6B + 8C
	 Þ	 A : C = 2 : 1	 ...(i)
	 Also, 5 (4A + 6B) = 4 (5A + 10C)
	 Þ	 20A + 30B = 20A + 40C
	 Þ	 B : C = 4 : 3	 ...(ii)
	 From (i) & (ii)
		  A : B : C = 6 : 4 : 3
		 \Total unit of work = (4A + 6B) × 5
		  = (4 × 6 + 6 × 4) × 5
		  = 240
		 \ Number if students from school - A required to 

complete the work = 
240
6

40=

116.	 Option (3) is correct.
	 	Pipe A fills tank in 6 hours.
	 	Pipe B fills tank in 8 hours.
	 	Pipe C empties tank in 10 hours.

	 	All pipes fill tank in 1 hour = 
1
6

1
8

1
10

 

		  = 
20 15 12

120
 

 = 
23

120

		  \ Tank will fill in = 
120
23

 hr = 5
5
23

 hr

117.	 Option (1) is correct.
	 Given that
	 	 PT = 5QT
	 Þ	 PT/QT = 5 : 1

	 Let	 PT = 5a & QT = a
	 Þ	 PQ = PT + QT = 5a + a = 6a
		  PQRS is rectangle

S R

P T Q

		  PQ = RS = 6a
		 In rectangle PQRS , three triangles are DPST, DTSR and 

DRTQ

		  Area of DRTQ = 
1
2
× ×base height

		  Þ 
1
2
× ×a RQ  = 12 3  Þ RQ = 

24 3
a

		 \ Area of rectangle PQRS = ar (DRTQ + DTSR + DPST)

	 = 
1
2

1
2

1
2

       QT RQ PT RQ SR RQ

	 = 
1
2
   RQ QT PT SR  = 

1
2

24 3
5 6  

a
a a a( )

	 = 144 3  cm2

118.	 Option (4) is correct.
	 Persons needs to travel distance = 30 km

	 	He covered distance = 
5
6

30×  = 25 km

	 Time taken = 3 h 20 min = 3
20
60







 = 
10
3

 hr

	 His speed = 25
10

3
 km/hr = 2.5 × 3 km/hr = 7.5 km/hr

119.	 Option (1) is correct.
	 	It is clearly there in histogram.
	 	Class of boundaries does the frequency of “10” is 20.5 to 30.5
120.	 Option (2) is correct.
	 	(2x + 3y + 4) (2x + 3y – 5) = (ax2 + by2 + 2hxy + 2yx + 

2fy + c)
		 Þ 4x2 + 6xy – 10x + 6xy + 9y2 – 15y + 8x + 12y – 20 = ax2 

+ by + 2hxy + 2yx + 2fy + c
		 Þ 4x2 + 12xy – 2x + 9y2 – 3y – 20 = ax2 + by2 + 2hxy + 2yx 

+ 2fy + c
		 Comparing both sides

	 a = 4, h = 6, g = –1, b = 9, f = 
−3
2

 and c = –20

	
g f c
abh
  

  

 
 

1 3
2 20

4 9 6

35
2

216
35

432
121.	 Option (4) is correct.
	 	Runs scored by all 50 players are

	 	

31
2

6
51
2

10
71
2

12
91
2

16
111
2

4
131
2

2 93 255 426 728 22

        

       22 313

1855





		 Average runs made by all 50 players = 
1855

50  = 37.1

122.	 Option (2) is correct.
	 	Let the required sum = 40x	 (2 cm of 8 & 5)

	 	\ Sudeep invested sum at 5% = 
1
8

40× x  = ` 5x

		 He invested sum at 6% = 
3
5

40× x  = ` 24x

	 \ He invested sum at 10% = 40x – 24x – 5x = ` 11x

		  Total interest = 
5 5 2

100
24 6 2

100
11 10 2

100

x x

x

    

  

	 Þ	 1674 = 
2

100
25 144 110x x x  

	 Þ	 1674 × 50 = 279x
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	 Þ	 x = 
1674 50

279
300

 

		 \ Total sum invested = `40 × 300
		  = `12000
123.	 Option (4) is correct.

	 Selling price = 
100

100
  profit%

C P.

	 	Here, cost price (C.P.) = `300
		  Profit percentage = 5%

	 Selling price = 
105
100

300×  = `315

		 Let the marked price be `x

	  Selling price = 
100

100
 discount%

 × Marked price

		  315 = 
100 10

100
  x  Þ x = 315 100

90
×  = 350

		 \ Marked price of the article = `350
124.	 Option (1) is correct.
	 	Let us assume that total income of person be 100
	 	\ Family expenses (E) = 50

		  Taxes (T) = 50
20

100
10 

		  Philanthropy (P) = 10
15
100

1 5  .

	 His saving = 100 – 50 – 10 – 1.5 = 38.5

		  His new salary = 100
140
100

140 

	 So,	 E = 140
50

100
×  = 70

		  T = 70
30

100
×  = 21

	 and	 P = 21
20

100
×  = 4.2

	 New saving = 140 – 70 – 21 – 4.2 = 44.8
	 Saving is increased by = 44.8 – 38.5 = 6.3

		 Percentage increase of saving = 
6 3

38 5
100

.
.
×

		  = 16.4%
125.	 Option (1) is correct.
	 	The total number of farmer = 264000
	 	  x% of 264000 = 5280

	 	x = 
5280 100

264000
×

 = 2%

		 % of farmer who claimed insurance in state C = 36% 
and in state A = 24%

		 Let us assume that % of farmer claiming insurance in 
sate E is y%

	 	So, as per the question
	 	 y% + 24% + 2% = 36%
	 Þ	y% 36% – 26% = 10%
126.	 Option (4) is correct.

	 	Ratio of capitals of A, B and C = 
2
3

3
5

5
6

: :

	 	 = 20 : 18 : 25
	 	Capital ratio of A, B and C at the end of year.

	 	 20 8 20
5
4

4   





 : 18 × 12 : 25 × 12

	 = (160 + 100) : 216 : 300 = 260 : 216 : 300
		  = 65 : 54 : 75
		 Let their capitals are 65y, 54y and 75y at the end of the 

year.
		 According to question
		  65y + 54y + 75y = 5820
	 Þ	194y = 5820

	 Þ	y = 
5820
194

30=

		 \ Share of C will be 75 × 30 = `2250
127.	 Option (2) is correct.
	 	(320 + 342 + 530 + 915) ÷ (20 + 22 – x + 18) = 43
	 Þ 2107 ÷ (60 – x) = 43
	 Þ	 2107 = 43 (60 – x) Þ 2107 = 2580 – 43x

	 Þ	 43x = 473 Þ x = 
473
43

11=

128.	 Option (1) is correct.
	 	Average amount invested in raw materials during 1997 

to 2000 = 
375 330 525 420

4
+ + +

	 	 = 
1650

4
 = ` 412.5 lakh

	 	Average amount of sales of final goods

	 = 
500 400 600 460

4
1960

4
     = 490 lakh

	 	\ Required difference = (490 – 412.5) lakh = `77.5 lakh
129.	 Option (3) is correct.
	 	Total marks of D1, D2 and D4 = 80 + 70 + 75 = 225

	 	Average marks of D1, D2 and D4 = 
225
3

 = 75

	 	Here, 75 means 75% ( Maximum marks  100)
		 Total marks of D3 and D5 = 50 + 55 = 105

		 Average marks of D1 and D5 = 
105

2
 = 52.5

		 Average percentage of D1 and D5 = 52.5%
		 \ Required difference of percentage = 75% – 52.5% = 22.5%
130.	 Option (2) is correct.

	 	 1
1

4
2

1
1

1
3

2

15
16

2
3

































   of 2
1
4

3 4
3 43 3 



	 = 1
1

4
2

1
3
7

15
16

2
3

9
4

7
91


























   of 

	 = 1
1

4
7
5

15
16

2
3

9
4

7
91



















  






	 = 1
5

13
15
16

3
2

7
91






    = 

8
13

15
16

2
3

7
91

  

	 = 5
13

7
91

35 7
91

28
91

4
13

    
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131.	 Option (1) is correct.
	 	L.C.M of 12, 15, 20, 24 and 30 = 120

	

2 12 15 20 24 30
2 6 15 10 12 15
2 3 15 5 6 15
3 3 15 5 3 15
5 1 5

, , , ,
, , , ,
, , , ,
, , , ,
, , 55 1 5

1 1 1 1 1
, ,

, , , ,

	 	2 × 2 × 2 × 3 × 5 = 120
	 Largest 6-digit number divisible by 120 = 999960

	 	

8333
120 999999

960
399

399

399

360

360

360
39

	 So, 99999 – 39 = 999960
	 Now, 12 – 8 = 15 – 11 = 20 – 16 = 24 – 20
	 	 = 30 – 26 = 4
	 	\ the required number = 999960 – 4 = 999956
132.	 Option (1) is correct.
	 	We know that 6 digit number in which 3 digit repeat i.e.,  

xyz xyz is always divisible by 1001
	 	1001 is divisible by 7,11 and 13.
	 So, 479479 is also divisible by 7, 11 and 13
	 	Compare 479479 with 479 xyz
	 We get Þ x = 4, y = 7 and z = 9

		 y z
x
   7 9

4
16
4

 = 4

133.	 Option (3) is correct.
	 	Diameter of a disc, d = 21 cm

	 \ radius, r = 
21
2

 cm

		 Thickness of 1 disc = 
1
3

 cm

		 Þ thickness of 60 disc = 60
1
3

×  = 20 cm

	 \ Radius of cylinder mode = r = 
21
2

 cm and its height 
= h = 20 cm

		 Volume of cylinder = πr2h

		  = 
22
7

21
2

21
2

20× × ×  = 6930 cm3

		  = 
6930

1000000
 m3 = 6.93 × 10–3 m3

134.	 Option (1) is correct.

	 	 0 08 0 008 8
1

9. % . %of of 

	 = 
0 08
100

0 008
100

8
1

9. . 





	 = 
8

10000
8

100000
8

1
9

 





	 = 
2

10
2

10
2

10
0 2

9

9

1
9 9 1

9











 





 


.

135.	 Option (1) is correct.
	 	Let us assume that marked price = `x

		  Selling price = 
100 10

100
100 5

100
100 4

100






 





 





x

	 Þ	  98496 = 
90

100
95

100
96

100
× × x

	 Þ	 x = 
98496 1000000

90 95 96
×

× ×
	 Þ	 x = `120000
136.	 Option (4) is correct.
	 	% of sales from the showroom C = 14%
	 	 100% in pie chart = 360
		 Þ 1% in pie chart = 3.6
		 So, 14% represent = 50.4%
137.	 Option (1) is correct.
	 	 sec107 q + cos107 q = 2
		  and 0° ≤ q ≤ 90°
	 Þ  q = 0°
	 	Only when, sec107 q + cos107 q =1107 + 1107 = 2
		  \ sec q + cos q = sec 0° + cos 0° = 1+ 1 = 2
138.	 Option (2) is correct.
	 	As per the given data, we will make figures.

P

Q

R

S

K

b

a

P

O K

K

O Q

g
d

K O

S
O

K

R
	 	Let K is the point on the top of the tower and the height 

of the clock tower OK be h.
	 	OK is perpendicular to PR and SQ
	 In DPOK ,

		  tan a = 
h OK

OPtan


	 Þ	 OP = h cot a
	 Also, In ∆QOK

		  tan b = 
OK
OQ
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		  OQ = 
h

tanβ
 = h cot b

		 In ∆POQ, OP is perpendicular to OQ, then 
		  PQ2 = OP2 + OQ2

	 Þ PQ2 = h2 cot2 a + h2 cot2 b = h2 (cot2 a + cot2 b)
	 Similarly,
		  RS2 = h2 (cot2 g + cot2 d)

		  Now, 
PQ
RS







2

 = 
h

h

2 2 2

2 2 2

cot cot

cot cot

 

 

 
 

	 Þ	
PQ
RS







2

 = 
cot cot
cot cot

2 2

2 2
 
 



139.	 Option (3) is correct.
	 sin (2q + 50°) = cos (4q + 16°)
	 Þ	  sin (2q + 50°) = sin [90° – (4q + 16)°]
		  [ sin (90° – q) = cos q]
	 Þ	 2q + 50° = 90° – (4q + 16)°
	 Þ	 2q = 90° – 4q – 16 – 50°
	 Þ	 2q + 4q = 24
	 Þ	 6q = 24

	 Þ	 q = 
24
6

 = 4°

140.	 Option (3) is correct.
	 	Length of cylinder, h = 84 cm

	 	External radius, r2 = 
10
2

 = 5 cm

	 Internal radius, r1 = 
8
2

 = 4 cm

	 Volume of pipe = h r r2
2

1
2 

	 	 = 
22
7

84 5 42 2  
	 	 = 22 × 12 × 9 = 2376 cm2

		  = 
2376

1000000
3m  = 2.376 m3

141.	 Option (3) is correct.
	 Work = Man × day × hour

Man Day Hour
10 12 7
14 x 6

	 	Let 14 men took x days to finish the task.
	 Þ	 10 × 12 × 7 = 14 × x × 6
		  x = 10
		 \ They need 10 days.
142.	 Option (4) is correct.
	 	Let cost price of 100 kg tea = `100
	 \	 Profit = `40 	 (C.P. of 40 kg)

	 Þ	 Profit% = 
40

100
100×  = 40%

143.	 Option (2) is correct.

A

B

C

25 cm
D

	  AD is median

	 Þ	 BD = DC = 
25
2

 cm

		  Median of right triangle = 
Hypotenuse

2

		  = 
25
2

 = 12.5 cm

144.	 Option (3) is correct.
	 	Length of parallel sides are 27 cm and 13 cm
	 	Height (distance between parallel sides) = 8 cm

	 	Area of trapezium = 1
2
   h sum of parallel sides

	 	 = 1
2

8   27+13

	 	 = 
1
2

8× × 40  = 160 cm3

	 	 = 160
1000000

 m3 = 0.016 m3

145.	 Option (1) is correct.
	 	Let the two numbers are 3x & 5x.

	 	According to question,

		
3 8
5 7

x
x
+
+  = 

2
3

		  9x + 24 = 10x + 14
	 Þ	 x = 10
		 \Numbers are 30 and 50

	 Now, 	 30 6
50 6

+
+

 = 
36
56

9
14

19 14= = :

		  New ratio = 9 : 14

146.	 Option (3) is correct.
	 	Average run rate for first 20 overs = 4.5

	 	 Average = 
sum of observations
no. of observations

		 Þ Runs scored in first 20 overs = 4.5 × 20 = 90
		  Runs needed = 282 – 90 = 192

		 \ Required average run rate = 
192
30

= 6 4.

147.	 Option (1) is correct.
	 	Diameter of wheel, d = 84 cm
	 	\ Radius of wheel, r = 42 cm
		 Distance covered in 16 revolution = 16 × 2pr

		  = 16 2
22
7

42× × ×  = 4224 cm

		  = 
4224
100

 m = 42.24 m

148.	 Option (3) is correct.
	 	Let the speed of two engines = 5x & 4x km/hr
	 	\ Relative speed of faster engine = (5x – 4x) km/hr
		  = x km/hr
	 Time to travel 8 km by relative speed= 8/x hr
		 Distance travelled by faster engine in 8/x hr 

		  = 
8

5
x

x×  = 40 km 	 (D = S × T)

		 Faster engine has to travel 40 km to overtake slower 
engine.
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149.	 Option (3) is correct.

	 	1
8

1 1
2 2

x
y

x
y








 


















	 = 
1
8

1 1 1 1
x

y
x

y
x

y
x

y







 
























 


















	 	 [Using : (a2 – b2) = (a + b) (a – b)

	 = 
1
8

1 1 1 1
x

y
x

y
x

y
x

y
  









   










	 = 
1
8

2
2

2
  x

y
x
y

150.	 Option (3) is correct.
	 	Pipe A can empty cistern in 2 hours.
	 	Pipe B can empty cistern in 3 hours.
	 	Pipe C can empty cistern in 6 hours.
	 	They will empty together part of cistern in

	 1 hour = 
1
2

1
3

1
6

3 2 1
6

1     

	 	In 1 hour they all will empty cistern.
	 	Let after x hours B is closed.

	 \	 1 – x × 1 = 
1
2

1
6

1
1
4



















x

	 Þ	  1 – x = 
4
6

5
4






x 	
 1

1
1
4

h 15 min

= hr





















	 Þ	 6 – 6x = 5 – 4x
	 	 2x = 6 – 5

	 Þ	 x = 
1
2

hour  = 30 min

		 So, B should be closed after 30 min.
151.	 Option (3) is correct.
	 This question tests a student’s vocabulary. 

FASCINATING means extremely interesting. Example: 
“a fascinating book is a best friend.” 

152.	 Option (1) is correct.
	 This question tests a student’s vocabulary. ADEQUATE 

means satisfactory or acceptable in quality or quantity. 
Example: “This office is perfectly adequate for my 
needs”. 

153.	 Option (4) is correct.
	 The blank requires a word that refers to the word ‘magic’ 

It is a pronoun that is used to refer a non-living noun. 
Hence, ‘it’ fits in the context appropriately. 

154.	 Option (3) is correct.
	 We need an adjective to fill the given blank, because 

we need a qualifier of the word ‘little objects’. Hence 
‘alluring’ is our obvious choice. Rest options can be 
easily eliminated as these are verbs. 

155.	 Option (2) is correct.
	 We require a word that refers to the objects mentioned 

in the sentence earlier. ‘Those sort of things’ make sense 
in the given context. 

156.	 Option (2) is correct.
	 The blank needs a word that indicates time when the 

author decided to go in. The apt word in the given 
context is “until”. 

157.	 Option (1) is correct.
	 The sentence suggest that gip hauled the person by his 

finger. The apt preposition in the given context is “up”. 
158.	 Option (2) is correct.
	 This question tests a student’s vocabulary. Words written 

on a tombstone in the memory of the person who has 
died is called an epitaph. Epilogue is a section or speech 
at the end of a book or play that serves as a comment on 
or a conclusion to what has happened. Stela is standing 
stone slab used in the ancient world primarily as a grave 
marker. Prologue is a separate introductory section of a 
literary, dramatic, or musical work

159.	 Option (2) is correct.
	 INTENTIONAL means knowingly. The antonym of 

intentional is accidentally. Voluntary means done, given, 
or acting of one’s own free will. 

160.	 Option (3) is correct.
	 The word “who” is used to introduce a clause giving 

further information about a person or people previously 
mentioned. The given sentence requires a word that 
refers to the girl mentioned in the sentence. ‘Which’ 
refers to non-living things, ‘That’ is used for both living 
and non-living, but refers to specific one. ‘Whom’ refers 
to the object of a sentence. In the given sentence the girl 
is a subject, hence the apt word in the blank is ‘who’. 

161.	 Option (3) is correct.
	 “If only” refers to a hypothetical or imaginary situation 

and it is always followed by a past verb. Hence, the apt 
word in the blank is ‘had’.

162.	 Option (1) is correct.
	 “For” is used to express duration. “To” is used to show 

direction or destination. ‘From’ is used to starting and 
end point or duration. “Since” is used to refer a point of 
time and it is used with perfect tense only. In the given 
sentence there is a description of a time duration. 

163.	 Option (2) is correct.
	 The action described in this statement is taking place at 

the time of speaking. So, it is necessary to employ the 
present continuous tense. 

164.	 Option (2) is correct.
	 The given sentence has an error in the usage of tense. 

This statement expresses what has already occurred. 
The present form of “collapse” has to be changed to a 
past form. 

165.	 Option (3) is correct.
	 This question tests a student’s knowledge of vocabulary. 

CONTAMINATE means to make impure, poisonous. 
Example: “the site was found to be contaminated by 
radioactivity”· Pollute means to contaminate (water, the 
air, etc.) with harmful or poisonous substances. Cleanse 
make (something, especially the skin) thoroughly clean. 
The synonym of contaminate is pollute. Sanctify means 
set apart as or declare holy; consecrate. Purify means to 
remove contaminants from.

166.	 Option (3) is correct.
	 This question tests a student’s knowledge of vocabulary. 

The wrongly spelled word is “journy”. It should be 
‘journey’. 

167.	 Option (4) is correct.
	 This question tests a student’s knowledge of vocabulary. 

LAMENT means to mourn, a passionate expression of 
grief or sorrow. Example: “She sang a song full of lament 
and sorrow.” The antonym of lament is celebrate. Hence, 
the correct answer is option (4).  Bemoan is to express 
discontent or sorrow over (something). Appeal is to 
make a serious, urgent, or heartfelt request.
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168.	 Option (3) is correct.
	 This question tests a student’s knowledge of idioms and 

phrases. “With open arms” means with great affection or 
enthusiasm. Hence, the correct answer is ‘warmly’. 

169.	 Option (3) is correct.
	 This question tests a student’s knowledge of vocabulary. 

ENRAGED means to be extremely angry, livid, 
infuriated. The antonym of enraged is pleased. Hence, 
the correct answer is option (3). 

170.	 Option (1) is correct.
	 “Across” is the wrong preposition here. “Across” should 

be replaced with “during”. The sentence describes an 
action that took place while the other act(walking) was 
going on. Hence, the correct answer is option (1). 

171.	 Option (1) is correct.
	 ‘For’ will be the right preposition to complete the 

sentence.  
172.	 Option (4) is correct.
	 A small building or room used for Christian worship in a 

school, prison, hospital or large private house is known 
as chapel. Hence, the correct answer is option (4). 

173.	 Option (1) is correct.
	 The incorrectly spelled word is “redius”. It should be 

radius. Hence, the correct answer is option (1). 
174.	 Option (1) is correct.
	 APPLAUD means show approval or praise by clapping. 

Example: “His speech was loudly applauded”. The 
antonym of applaud is denounce. Hence, the correct 
answer is option (1). 

175.	 Option (1) is correct.
	 This question tests a student’s knowledge of vocabulary. 

This sentence compares milk with other foods. Therefore 
“more” should be used here. 

176.	 Option (4) is correct.
	 We use the “-ing” form after enjoy and not a “to-

infinitive”. Therefore “to watch” should be replaced by 
“watching”. Hence, the correct answer is option (4).

177.	 Option (4) is correct.
	 This question tests a student’s knowledge of vocabulary. 

The incorrectly spelled word is laboratery. It should be 
laboratory. Hence, the correct answer is option (4). 

178.	 Option (4) is correct.
	 This question tests a student’s knowledge of vocabulary. 

SUBSEQUENT means coming after something in time; 
following. Example: “The theory was developed 
subsequent to the earthquake of 1906”. The synonym for 
subsequent is consecutive. Hence, the correct answer is 
option (4). 

179.	 Option (4) is correct.
	 We always use the first form of the verb when the 

auxiliary “couldn’t” is present. Because of this, “got” 
should be changed to “get”. “Any” is also used in a 
pejorative context. Therefore, “any” should be used in 
place of “some”. Hence, the correct answer is option (4). 

180.	 Option (3) is correct.
	 The incorrectly spelled word is “mischivious”. It should 

be mischievous. Hence, the correct answer is option (3). 
181.	 Option (3) is correct.
	 Before a noun, we can add quite+ a/an to emphasise it 

or give it more significance. “A” should be used in place 
of “the” there. Hence, the correct answer is option (3).

182.	 Option (4) is correct.
	 The incorrectly spelled word is “puddel”. It should be 

puddle. Hence, the correct answer is option (4). 

183.	 Option (4) is correct.
	 A gerund follows the verb “watched”. As a result, the 

word “to repair” in the option should be changed to 
“repairing”. Hence, the correct answer is option (4). 

184.	 Option (1) is correct.
	 A person who believes that war and violence are 

unjustifiable is known as a pacifist. Hence, the correct 
answer is option (1). Pessimist is a person who tends to 
see the worst aspect of things or believe that the worst 
will happen. Optimist is a person a person who tends to 
be hopeful and confident about the future or the success 
of something. Anarchist is a person who advocates or 
promotes anarchism or anarchy.

185.	 Option (2) is correct.
	 We use question tags at the end of statements to ask for 

confirmation. If the statement is positive, the auxiliary 
verb will be negative and vice versa. In the given 
question the affirmative sentence is in past tense, hence 
the question tag will also be in past tense. Thus, the 
correct answer is option (2). 

186.	 Option (1) is correct.
	 This question tests a student’s understanding of idioms 

and phrases. Take heart means to have one’s confidence, 
courage, or happiness bolstered (by something). 
Example: We may have lost the election, but we take 
heart in the fact that so many young people are now 
engaged and excited about politics. Hence, the correct 
answer is option (1). 

187.	 Option (3) is correct.
	 This question tests a student’s vocabulary. Tranquil 

means calm, peaceful or quiet. Agitate means to make 
(someone) troubled or nervous. Hence, the correct 
answer is option (3). 

188.	 Option (1) is correct.
	 This question tests a student’s vocabulary. Infinite 

means limitless or endless in space, extent, or size; 
impossible to measure or calculate. Limited is restricted 
in size, amount, or extent; few, small, or short. Boundless 
is unlimited or immense. Vast means of very great extent 
or quantity; immense. Eternal is lasting or existing 
forever; without end. The antonym of infinite is limited. 
Hence, the correct answer is option (1). 

189.	 Option (2) is correct.
	 This question tests a student’s vocabulary. A person 

who can endure pain or hardship without showing his 
feelings or complaining is called stoic person. Hence, the 
correct answer is option (2). Agnostic means a person who 
believes that nothing is known or can be known of the 
existence or nature of God. Ascetic means characterized 
by severe self-discipline and abstention from all forms 
of indulgence, typically for religious reasons. Pedant 
means a person who is excessively concerned with 
minor details and rules or with displaying academic 
learning. 

190.	 Option (1) is correct.
	 A person who held a job or office before the current 

holder is known as predecessor. Hence, the correct 
answer is option (1). Ancestor means a person related 
to you who lived a long time ago. Successor means 
a person or thing that succeeds another. Descendant 
means a person, plant, or animal that is descended from 
a particular ancestor. 

191.	 Option (1) is correct.
	 This question tests a student’s knowledge of idiom and 

phrases. Looking for a needle in a haystack is a common 
phrase that means something is difficult to find. 
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Example: I lost the remote control to the TV somewhere 
in the living room and I cannot find it anywhere! It’s like 
looking for a needle in a haystack! Hence, the correct 
answer is option (1).

192.	 Option (2) is correct.
	 The phrase refers to a trend, which is a well-liked pastime 

that people enjoy engaging in frequently. A “regular 
activity” is explained using the present simple tense, 
however “picking up” in option 2 is the continuous 
form, which is inappropriate in this context. “Picks up” 
should be used in its stead.

193.	 Option (1) is correct.
	 The sentence is grammatically correct. Hence, the 

correct answer is option (1). 
194.	 Option (4) is correct.
	 Off and on means intermittently; now and then, not in a 

regular or continuous way. Hence, the correct answer is 
option (4). 

195.	 Option (4) is correct.
	 It is mentioned that “The gloriously uppity Great Indian 

bustards in the Karera Sanctuary (Madhya Pradesh) 
were another unforgettable sighting. The sheer disdain 
with which they flounced away from our howling, 
jolting jeep and took to their wings was a lesson in being 
put in your place. Now, not only does the sanctuary not 
exist anymore but those magnificent muscular birds are 
crashing to total extinction.” From the above line the 
clear answer is option (4). 

196.	 Option (2) is correct.
	 Then I recalled some of my own “lifers”. Number 1 is 

the little coppersmith barbet. I will never forget the first 
time I saw grey hornbills aeons ago: over sullen grey 

skies in the Borivali National Park. The gloriously uppity 
Great Indian bustards in the Karera Sanctuary (Madhya 
Pradesh) were another unforgettable sighting. From the 
above lines, we can derive that the author has seen all 
the birds except Paradise flycatcher. Hence, the correct 
answer is option (2).

197.	 Option (4) is correct.
	 From the lines, “Or, for that matter, their larger, more 

glamorous, cousins — Great pied hornbills. Tramping 
through a streambed in Kalagarh (near Corbett), we 
suddenly heard this rasping, whooshing, sound. Up 
there, in the clear blue, were six-seven huge black-and-
white birds with colossal yellow beaks flying in tandem 
across the clear blue sky, their wings making the rasping 
sound.” We can deduce option (4) easily.

198.	 Option (3) is correct.
	 From the first paragraph of the passage, we can 

understand that ‘lifer’ stands for a bird that has a life 
changing impact on you. Hence, the correct answer is 
option (3). 

199.	 Option (3) is correct.
	 Fathom means understand (a difficult problem or an 

enigmatic person) after much thought. Example: They 
could not fathom the concept at all. Aeons means an 
indefinite and very long period of time. Example: “He 
reached the crag aeons before I arrived”. Tandem means 
at the same time. Hence, the correct answer is option (3). 

200.	 Option (1) is correct.
	 This question tests a student’s understanding of idiom 

and phrases. To get green light for something means 
to get permission to do that thing. Hence, the correct 
answer is option (1).




